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Introduction to the Exchange System

Now that we have a good understand of life. Wevktiwat life is made of many things
that are located in various places, and we neeskttiongs for living. In order to enable
the functionality of our lives, we need goods aen/ges that are located in various
locations. Given that we, the physical systeneitn@d as a theory dependable system,
and we apply theory independently and in grouppedeéently to derive functions that
are useful in life. It makes sense for us to ergeavhat we derive so they can be useful
to others. Given that everything that we needvi®ik not located where we are present
or reside, it makes sense for us to exchange bateaeh other to make life convenient.

Another way to look at it, since we live in varigoulaces and we work in various
locations, it makes sense for us to interact t @dlcer to exchange what we do within
ourselves to make life convenient.

We are defined as a mobile system. We don’t stapne location all the times. We
move from places to places. Given that when weenfmm places to places we are still
functional, it makes sense for us to find resouthaswe need to live at any place that
we present. For this reason, it makes sense fr in¢eract to each other to exchange
goods and services together at various locaticatsib present.
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We interface between each other through communbitatit is very difficult to find
anything that we do within ourselves without the o§ communication. Communication
is the only way we interact to each other. Wethaécommunication interface to work
together; we also use it to exchange goods andtserwithin ourselves. Since we have
already been familiar with the diagram of our comination interface, it makes sense
for us to show it here again. Below is the diagdraur communication interface. It
shows that “me” and “you” interface together thrbwgmmunication.

Communication Interface

Q O

Me You

As we said above, we interface through communinatiado what we do. That
communication interface allows us to work togetlitesijso allows us to exchange goods
and services within ourselves. The diagram beloows a typical view of the use of the
communication interface for exchange. The waytklat it, from the diagram below,
the communication interface is being used for ergea An exchange is an agreement
between the parties. For instance, from the dragr@low, the exchange is defined as an
agreement between me and you. It does not mattenat form the exchange is being
made; it does not matter if the exchange uses mahestronic, goods etc. What matters
is that the exchange is always an agreement witieiparties. From the diagram below,

| agree to pay you, while you agree to give me gamdorovide services to me.

e to g/
50 % Q/V@/
o

I/Me You
99ree to QQ#
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As we have learned above, an exchange is an agnéentlein the parties. We
exchange, because goods and services that wembeel are not located where we are
present or at our residence, we must interactdb ether to exchange. We use the
communication interface to interact to each otbgrdrform exchanges. While the
diagram above shows that exchange is an agreenithim the parties, it also shows a
typical exchange that we all familiar with. Givirat we all use money or any other
alternative or equivalent to exchange, the diagoataw represent a typical exchange
using money. While we use money from this diagr&ican be replaced by any other
mean to enable the exchange. The diagram showkdive you money, while you give
me item or service, which is the same as goodsmwices. Another way to say it, | agree
to give you money, you agree to give me goods i cEs.

o/ Sem/c®

‘o

Exchange

I/Me Q/VG mOmm\Q You

The diagram above shows a typical exchange usimgemoSince we know that an
exchange is an agreement within the parties, itesaknse to show the flow of the
agreement in a typical exchange. The diagram bslaws the flow of a typical
exchange, it shows that | agree to give money to yo

. \s&@

agree to give
g P2 > Money S g

| You

Given that an exchange is an agreement within éingeg, given that we use
communication to interact together to perform tkehange, in order for the exchange to
be completed, both parties must be agreed. Instefrmommunication, it must flow both
ways. The diagram below shows the complete ofrtiresaction from the one above. It
shows that, you agree to give goods and service®toThat makes sense, since in order
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for the exchange to be completed, | must agreeyandnust agree, so in this case, both
of us agree.

agree to give Goods or to
g > services B >

You Me

As we previously learned, an exchange is an agneewithin the parties. In order for
the exchange to be completed, both parties muagkeed. The diagram below shows a
circular flow of the typical exchange from above.

I/Me You

agree to give to
—> Mone b
& R

. agree to give
goods/services

Understanding the Exchange System

From the previous section with have learned thegs® of exchange, we have seen that
an exchange is an agreement within the partiesfurfioer enhance ourselves, we have
shown the flow of that agreement. We have alsméshthat we interact through
communication to perform the exchange. That malles of sense and it is very easy to
understand. Since communication is the only wayntexface to each other and in order
to exchange we have to interface with each othergfore we must use communication
during the exchange process.

While the diagram above shows the typical flow mfeachange in order for us to view it

as an agreement within the parties, in order t@leabetter understanding of the
exchange itself, it makes sense to present itwayaso the exchangeable elements can be
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viewed as separate entities. The diagram belowslaatypical flow of an exchange. It
shows that | use money to exchange.

@ use ’ money to ’

exchange

The diagram below is derived from the one aboviee Way to look at it, the diagram
above is not specific, while the one below is sj@ciln the one above, it shows that |
use money to buy food. As we say before, moneg doéhave to be the only mean to
use, any other mean can be replaced in the flow.

@ use ' money to buy ’

food

As we said at the beginning of this section, ineoitd have a better understanding of the
exchange process, it is always good to view théaxge elements as separate entities
within the exchange. Itis also good as well,nderstand the parties that are included in
the exchange. What we mean by that, we meanttisatlways good to understand both
the exchangeable and the non exchangeable ewlitigg) the exchange process. The
diagram below shows a flow of an exchange procsshows that we use money to buy
food. In this diagram, we separate the entitighénexchange. From left to right and the
middle, we see three different entities. The anthe left is the physical system—us—
which is a non exchangeable entity. The one imilt&lle is money, which is an
exchangeable entity, and the one to the rightad favhich is another exchangeable
entity.
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Another different entity! A separate entity ! A different entity
|

g N money 10 buyyy,

food

To better understand the separation of the enthigsinclude in the exchange above, we
separate each entity by number. We label them framber one to number three, where
number one is the physical system, which is us;berrtwo is money, while number
three is food.

Another different entity! A separate entity ! A different entity
|

@ use i ' money :| to buy’
: : food
we i
#1 i #2 #3

To better understand the separation of the enthismake up the exchange, we simply
detach all of them to represent them physicallgegsarate entities. That is very easy to
understand within the exchange itself. We know w& the physical system are
different from money. The food that is being exuipais also different from money. So
what we have here, we have three entities that@rgletely different from each other.
The physical system is different than money; masaifferent than food, and the
physical system is different from the food entigyveell. Whenever we perform an
exchange, it is very important for us to understand differentiate the entities that
include in the exchange.
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#1

Physical system

@ money food

#2

US #3

The diagram below shows the circular flow from times we saw above. The agreement
is flown within both parties. Similarly to entiseparation above, in this diagram, we
separate the entities and the parties that paateiip the exchange. From this one, both
the physical system, me and you are identifiedumsher ones, while money is number
two, and item/service is number three. What isartgmt here, all entities that are being
identified are different and separate from eaclemtHht is very important to understand
that.

I/Me #2 You

@ give > Money o g "

#1

#3

ltem/service «§

to give

Understanding the Exchange System Related to Coiroatiom

From the previous section we have learned abouighge of our communication
interface during an exchange. Although we diderophasize about the usage of
communication related to exchange, however if wd plose attention, we should have
seen that communication is what drive the excharfdet makes sense, since we already
know that we use communication to get what we néwte is no surprise here to learn
that the exchange is driven by communication.
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We are very familiar with the sentence depictedWwellt shows that | communicate to
get what | need. To better understand the relstignbetween what | need and
communication, we simply separate both communinaditd what | need. From the
diagram, we can see that communication is numberamd what | need itself is number

two.
#1 H#H2

| communicate to get what | need

Now, let's separate both number one and numbeirtteawo boxes and draw the arrow
to show the flow of the sentence. The diagramweealoows the separation of number
one and number two into boxes and with the arrashbow the flow of the sentence.

4communicate to get what | need

Finally, we use the diagram below to show the fldwthe sentence by separating the
entities that makeup the sentence. It shows liggphysical system, | as a separate entity
and communication is what is driven to get whagéch In this case, the communication
itself is shown as a separate entity and what dl msewell.

. . to get
@ use Communication—— %=

what
| need

Since exchange is what we should set our focusatimr than using the phrase what |
need, it is better to use the word exchange. Widh we can use the above diagram and
replace what | need with the word exchange. Thgrdim below shows the replacement
of the phrase what | need by exchange. From thgram, we can see that the exchange
is driven by communication and it is viewed as gasate entity from communication. It
is very important to understand that.

@ use Communication——2°—pp»

exchange

www.speaklogic.org Copyright © 2011The Speak Logic Project




378

Whenever we use the word exchange, we always h@a@sgand services in mind.

While we can say we use communication to exchasigee goods and services are what
we exchange, we can also say that we use commiami¢atexchange goods and
services. With that, we can use the same diaghawveato include goods and services,
which is what we exchange. This diagram showslthve of a typical exchange. It
shows that we use communication to exchange gaatisexvices. In this case, we can
see that goods and services are separate entildb@exchange is driven by
communication.

g use Communicationw’ goods

and
services

We

We know that an exchange is an agreement withipaniges. During an exchange, both
parties are in the receiving side. In this case, @ceives from the other one and vise
versa. For example, in a typical exchange, ontyjgan receive money, while the other
one can receive goods and services. As we samldyef does not matter in what form
the exchange takes place; it does not matter ifrémesaction is being done electronically;
it does not matter if credit, trust or delay payinsrbeing used in one side, what matters
is that the parties agree to exchange and timérandaction delay does not matter. The
diagram below shows the flow of a typical exchang®eg money. As we can see, the
exchange is driven by communication. To the riglg,can see that both the money and
the goods are separate entities. We can call éh@mangeable entities or exchangeable

elements. The second diagram shows goods andeagme being exchanged rather than
money.

@ use Communication-exchanggy, money B goods
and
services
We

@ use Communication4t09X0h6n9$ goods for_p, goods

and and
services services
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Now that we know communication is an importantdadh exchange, and the exchange
is driven by communication. It makes sense faiousirther our analysis about the
exchange and communication so we can increasenai@rstanding of the exchange
itself. We have learned how to communicate witheyabr from our parent’s principles.
From our parent’s principles, we have also leatmad to correct any error we make in
communication. We also know that those set ofgipies that help us how to
communicate without error, constitute the theorgahmunication. With our
understanding of theory of communication, we knbat tvhenever we make error in
communication, we also make error in what we dbatBhould not be a surprise, since
everything that we do is preceded by communicatidaw, that we understand both
communication and the usage of communication itamge, it is worthwhile to present
a picture of a typical exchange which is drivercbynmunication related to
communication theory. The diagram below showdlthe of a typical exchange. It
shows that the exchange is being driven by comnatipit. Given that communication
theory is the basis of error analysis and correctioe diagram shows theory
communication controls the flow of the exchangeuriby the exchange process, any
communication error will get corrected by theorycofnmunication to allow the
exchange transaction to proceed correctly. Sinaexahange is an agreement within the
parties, the second diagram shows that | and yewwoisimunication to exchange. It
shows that the exchange is being driven by commatinit and communication theory
controls the flow of thexchange communicatiorburing the exchange communication
process, sentence analysis can be used to comecbenmunication error to allow the
exchange to proceed without error. It is very imgat to understand the communication
aspect of the exchange related to theory of comoation.

g use Communication| 0 exchangepy, goods

ar]d
services

We Communication
Theory

@ |__use Communicationtoex‘:ha”gew“h' @

| T You
Communication

Theory
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We have just learned about the separation of cormation form the exchange itself.
Given that our exchange is driven by communicatie@have been able to separate the
communication entity from the exchange and alse#uhange itself. With that, we
have used theory of communication as the basigof analysis during the exchange
communication. Since when we perform an exchargeammunicate about that
exchange, since an exchange is an agreement whehiparties, since all parties that
participate into an exchange are in the receividg, since an exchange is driven by
communication related to the exchangeable entitiesakes sense here to show both
communication and the exchangeable entities diiverexchange combined. The
diagram below shows a typical flow of that, it stsotivat we use communication and
goods to exchange. There should be no surprigedniembiguity in terms of
understanding. The way to look at it, the exchgmgeess is driven by both
communication and goods. That makes sense, somsganication initiate the exchange
and goods or money are used in the transactiomkes sense for us to combine both of
them as the ones that drive the exchange. Theasragellow shows that we use
communication and goods to exchange, the secondhmves that we use
communication and money to exchange, while thel tire shows we use
communication and service to exchange. As welsshiore, while we use money here, it
can be replaced by any other exchangeable emtitieedit and trust.

use Communication o
and Goods >
exchange
We
use Communication o
and Money ’
exchange
We
use Communica_ltion .
and Service '
exchange

We
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As we said before, an exchange is an agreemenebettwo parties. During the
exchange process, both parties are in the recesiiey During a typical exchange
process, we can use communication and money taagetfor goods and services. As
shown below, both communication and money are tetthe exchange of goods and
services. The second diagram shows that the egelfan goods and services is being
driven by communication and goods, while the tloiné shows that it is being driven by
communication and services.

use Communication w}
and Money goods
and
services

use Communication w}
and Goods goods
and
services

use Communication %
and Services goods
and
services

We

We have learned that the exchange is being driyaoimmunication and the exchange
entities combine. In order to better understaedpttocess, it makes sense to view the
exchange entities are part of the communicatiaor. ikstance, during a typical exchange,
we communicate about the goods that are being egelda Since the communication
link is controlled by theory of communication, dugithe communication process, any
error that is presented can be identified and ctecewith the use of communication
theory. To better understand the process, it ishmdnile to present the flow in a

diagram as shown below. The diagram below shoatswb use communication and
goods to exchange. It also shows that the exchiarlgegng driven by communication
and goods and it shows that theory of communicasarsed to control the link. In terms
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of error analysis, the second diagram shows tleatrthcommunication is used to control
the flow of communication and money during the exae.

use Communication o
and Goods >

T exchange

Communication
Theory

use Communication o
and Money »

T exchange

Communication
Theory

Since we exchange goods and services and commonicadriven the exchange related
to the exchange entities, it makes sense to raprédsediagram above with goods and
services included. The diagram below shows a &fiow of an exchange where
communication and money is used to exchange gautisexvices. It shows that
communication theory is used to control any ernat tan be presented during the
exchange process. The second and the third diaginam the same process, but it shows
that communication and goods and communicationrsamnces are being exchanged
instead. What is more important here is the faat the communication and the
exchange entities combined are being controllethbgry of communication during the
exchange process.

use Communication w}
and Money goods

and
services

Communication
Theory
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@ use Communication w}
and Goods goods

and
services

Communication
Theory

use Communication w}
and Services goods

and
services

Communication
Theory

Understanding Ourselves Related to the Exchangei®ys

We, the physical system are defined as a self prograble system. By being self
programmable, we are also theory dependable. frese self programmable, is similar
to theory dependable. By being theory dependa@e;an apply our utilization theory to
enable the functionality of our lives. Wheneveruwse the term self programmable, the
word self controllable always come to our mindsasiBally, the phrase self
programmable and self controllable are similaraocheother. To better understand our
physical system and its dependency on theory aiways good to present it as shown by
this diagram. This diagram shows that our fun@lityydepends on our utilization theory
and it always guide us all the time to do what we d

Theory guides } @

Us

Given that we are an intelligent-system, it is glsvgood to know the relationship of
theory related to our intelligence. The way tokdadb it, given that we are a theory
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dependable system, our intelligences always némsies to give them ideas. In other
words, our utilization theory guides our intelligess to enable us to do good things in life
for our functionality. To better understand thiatienship of our intelligence related to
its dependency on theory, it is always good togmethem by a flow diagram. This
diagram shows that theory guides our intelligendets the same as saying that our
intelligences depends on our utilization theory.

Theory ﬂ’ Intelligence

Now that we understand ourselves related to olization theory, now that we
understand the way our intelligence works relatedur utilization theory, it is

worthwhile to look at life related to ourselvesur@hysical system functions by

applying methods. We can say that we live by dpplynethods. For instance, in order
for us to stay alive, we must eat, so eat is camnsitito be a method. As we have learned
at the beginning of this chapter, we need resourckge and those resources are located
in various places. We call those resources gondsarvices. Since everything that we
need to live is not located at our present plaaesidence, we need to exchange goods
and services in order to make our lives conveni®e use the term exchange system to
denote the process of exchanging goods and services

As we define ourselves as a theory dependablersyste also know that our system can
be viewed as a collection of instruments that wodether to enable the functionality of
our lives. In terms of instrument identificaticor example, we can identify our hands as
attached instruments of our system. From instraatiem theory, we know that our
attached instruments are used to enable the funadtip of our lives. We also know that
any external instruments that are used with oach#d instruments are also used to
enable the functionality of our lives as well. Wda we mean by external instruments,
we mean non natural instruments? To better ureledhe relationship of external
instruments related to our physical system, it madense to present that relationship by a
block diagram. The diagram below shows that oysal system uses instruments. For
instance, we can say that we use a particularstfument to provide a function in life.

We can also say that we use those instruments something useful for us.

System uses > Instruments

The diagram below is similar to the one above, pktiee one below gives us a better
visual aspect of ourselves. From the diagram belosthows that the physical system is
completely separate from the instruments. Thet@wdgok at it, the physical system uses
the instruments; both the physical system andrtbeuments are completely separate
entities. From this diagram, we see ourselvesampletely different from the
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instruments that we use. That makes a lot of sandet is completely easy to
understand. We go to the store we buy a compareegre not the computer. The
computer is completely a separate entity fromlaghis case, we can see that we are
human and the computer is an object. It is vempyartant to understand that.

use > Instruments

We

Understanding Ourselves Comparing to Exchangeahtéi&s

From the previous section, we have seen that wa #reory dependable system and we
use external instruments in life to provide us ddal functionality. We also know
those external instruments that we use in lifecarapletely separate entities from the
physical system. Related to the exchange systeswiorthwhile for us to look at the
above relationship related to the exchangeabl&esnti

Earlier from this chapter, we have learned thatigaand services that we need to live are
located in different places and we must exchangmtfor the convenience of our lives.
We have also learned that whenever we perform aehnagge, the items that are being
exchanged, which we call, exchangeable entities@mgpletely different from our
physical system. We have used our useful blocljrdra to separate and label both the
exchange entities and our physical system. Asalref what we have learned, let's
show that block diagram here again. From the diagoelow, we can see that |
exchange with you by giving you money and you pitevine with goods/services. From
this diagram, we can clearly see that money is ¢etely a different entity from the
physical system—me and you—and goods and servieeals completely separate
entity from the physical system—me and you. Tha&eaycentity is completely different
from goods/services. In this case, we can seenthaty is a different entity from goods
and services is also a different entity from monkys very important to understand the
exchangeable entities and be able to differentiegm as well.
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I/Me #2

g give > Money ) (o
= #1
#1 .

#3

Goods/services @2

to

By looking at this section and the previous sectw@ can see that there is a similarity.
From the previous section, we have learned thareea theory dependable system and
we depend on our utilization theory to enable thectionality of our lives. From the
previous section, we have also learned that wextsenal instruments in our lives and
those instruments are separate from our physisésyand they are completely separate
entities. In this section, we learn that the goanis services that we exchange are
completely separate entities from our physicaleyst We have been able to separate
and identify those entities. We have identifieenthby numbers and we clearly see and
think that there are different. The most importatationship between this section and
the previous section is that our physical systepedds on our utilization theory, but
uses external instruments. It is very importaniriderstand that relationship.

A theory is defined as a set of principles thatoém#he functionality of a system. Our
utilization theory is defined as set of our paremtinciples that enable the functionality
of our lives. We can also say that our utilizatibeory contains principles that enable
life to function normally. Whenever we use tharidunctionality of life, it is always
good to look at the word stability as well. As aleeady know that, life is a function.
We live by performing or executing functions. Assm functions normally when it is
stable. Life functions normally, when it is stglber lives function normally, when we
are stable. Hence, from the explanation we hastegiwven, it is very easy to see the
similarity between the term normal functionalitydathe word stability. From what we
know about our physical system stability and oulization theory, we have learned that
the stability of live can only maintain by the i#dtion of our parent’s principles. From
what we know about life and our utilization theome know that the stability of life can
only be maintained by the application of our uétibn theory. Itis very important to
understand that. Compare what we have just saidrinection with exchangeable
entities, it is not possible for the functional teya stability to be maintained by
exchangeable entities. The way to look at it, udilization theory is the set of our
parent’s principles that can only be used to mairitath our physical and our functional
system stabilities. Although we use exchangeaftiiess, they cannot maintain our
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physical system stability. Exchangeable entitrescansidered to be physical entities
and they can never bee used to maintain our pHysistem stability. Given that the
functional system depends on us and we dependromtibzation theory, those physical
entities cannot provide stability for our functibsgistem as well; see exercise 132 and
132 for more detail. It is very important to understahat.
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Conclusion

We live in different places and we also move frdacps to places. Given that the
resources that we need to live at not locatedeapliaces we are present, we need to
exchange goods and services among ourselves toonakges convenient. Whenever
we talk about exchange, we always mean buy, satletor any other form of exchange.
We name goods and services that we exchange, egediale entities. Given that we are
a communication enable system and we only intetiaeach other through
communication, we use that communication intertacenable us to exchange goods and
services. With our ability to observe and diffarate, we have been able to distinguish
and differentiate entities that we exchange amamngeadves. We call the entities that we
exchange, exchangeable entities, and we call maséhe physical system, non-
exchangeable entity.

Our physical system is defined as a theory depdadaistem. By being a theory
dependable system, we can use our utilization yhiogive us ideas to do what we do.
Our intelligence which enables us to do things ddpen our utilization theory. Our
utilization theory is the set of our parent’s piples that we use to enable our lives to
function normally. In other words, the applicatioiour utilization theory enables the
continuity of normal functionality of our lives. Nile we exchange and use goods and
services, they are not considered our parent'siples and they cannot ensure our
physical system stability. Goods and serviceswgaéxchange in life are considered to
be physical entities and they can never be maingiour system stability. Those
exchangeable entities are not sustainable. Thayota@nsure our system stability; at
some point of time, they will not be maintainalidat our utilization theory will keep us
going for a long time. Our theory will keep us mgifor all times to come. Those
exchangeable entities cannot maintain both ouopetsand our physical system
stabilities, but our utilization theory can maimt&ioth our personal and our physical
system stabilities. While those physical entiteanot maintain our functional system
stability, but our parent’s principles can maintaur functional system stability. Itis
very important to understand our utilization theooynparing to exchangeable entities.
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Exercises

119.State two or three parent’s principles or irddtons that are related to the
exchange system theory and show their importance.

120.Show which one of the following is correct axgblain the reason you choose
the correct one and leave the one that is notcoatene. Redraw the diagrams
and use the word “I/We”. For the last one, usevtbed “System/We”.

g g depends on
uses
4’ Money » Money

System System

@ applies I Money g depends on ' Theory

System System

@ have trust in @ have wustinmpy,
4’ Money Theory

121.From the exchange system theory, we have ledrow to separate the
exchangeable entities. We have learned how terdiftiate them as well. For
example, from a typical exchange, we can identify separate the exchangeable
entities. We can also identify and separate thtgsathat are including in the
exchange as well. In other words, in a typicahexge, we can identify both the
exchangeable elements and non exchangeable elements
a. From the following exchanges, identify and sepatfa¢eexchangeable
entities. ldentify and separate all non exchanigeaftities as well.
* | use money to buy a soda
* | work for money
* | pay you to fix my car
* Yesterday | traded my car in the dealer
b. Define each entity identified from the above exa&zciln other words,
define both the exchangeable and non exchangeatitie
c. In your own words, define the terms exchangeabderam exchangeable
entities. By defining those terms properly, yoowdd be able to answer
this question: when an entity is exchangeable amehvit is not
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exchangeable; which is the same as saying, witanhisidered to be an
exchangeable and non exchangeable entity.

122. From the exchange system theory, we haveddahat goods and services that
we need to live are located in many, many pla&ace we live in different
places, we need to exchange those goods and seivioeder to make our lives
convenient. This is very easy to understand. d®kihg at the world around us,
we can see exactly what we have just said. Disteth@ way we say it, it is
always better for each of us to see exactly whaanedalking about. With that,
it is worthwhile for each of us to answer this dies

a. Why an exchange system is needed?

b. According to how you answer the above quessbow the importance of
that exchange system related to the exchange syis&ary.

c. From your part b above, if you see that theegenged for exchange, you
maybe able to see the importance of the excharggersytheory as well;
elaborate that.

123. We already know that the reason we exchangdsyand services, because what
we need for living are not located where we preseat our residence. We can
also say that the resources that we need for liiogte in difference places, so
we exchange them between us in order to get whaieed.

a. Use the table to list couple of items that yeadfor living. Those items
can be goods and services. Name the locatiorreeaddresses of those
items, and state the methods you use to get them.

b. Use a map as shown below or any transpareneynoap to locate those
items. Write the names of those items on the glétat they are located
on the map. As we said earlier, those items cagobes or services.
Once you locate the items locations on the mapanosalipse or circle to
identify the location and write down the items nam&he map you use
can be your city map or any other map you wish.

c. From the items that you located and the methatiyou used to get each
item, state why you use this particular method.

Items Names Items L ocations Exchange M ethods
Item Name 1 Item Location 1 Method 1
Item Name 2 Item Location 2 Method 2
Item Name 3 Item Location 3 Method 3
Item Name 4 Item Location 4 Method 4
tem Name 5 Item Location 5 Method 5
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124. Show your understanding of the exchangesysteory related to the theory
of instrumentation. This is the same as sayingvsyaur understanding of
instrumentation theory related to the theory ofkating.

125. Verify that our utilization theory is not archangeable entity. Which is the
same as saying that verify that our utilizatiorottyes not exchangeable.

126.From the theory of marketing, you have shovat timly adding functions are
marketable. Related to the exchange system theeryy the correctness of that
statement.

127.Base on your understanding of the exchangemytteory; verify the following
with a practical example.
» Difference between exchangeable entities and thsiqdl system—
yourself
» Difference between exchangeable entities and dlizatiton theory

128. Verify your understanding of the exchangeesystheory related to the system
and system relationship. This question is the sasrtbe one below. Depend
how you approach it, you can do either one of them.

129.Show the importance of the exchange systemmthelated to system and system
relationship. This is the same a saying showrtigortance of system and
system relationship related to the exchange sy#ieory.
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130.We know that problems are not physically defin@/e define a problem as a
negative philosophy that enables life to functibn@mal. The way to look at it,
the application of negative philosophies develapblems. Those can only be
solved by dropping those philosophies and learamdjapplying our parent
principles. The fact that we are a theory depeledsystem, our intelligence
always depend on theory and it needs theory tadgas on how to do things.
When we disregard our utilization theory, our iligeince simply depends on our
philosophies. Since our philosophies are notedl& our system, when we
depend on them, we simply develop problems. Teestblose problems, we
must always learn and apply our utilization theoBur utilization theory
includes the exchange system theory. The exchaysiem theory is defined as
set of principles that enable us to exchange gaadsservices. Whenever we
disregard or misapply the exchange system theaz\simply develop problems
in life.

a. Take your time to think about the above pardgrap

b. State or list couples of problems that are ahbgemisapplying or
misunderstanding the exchange system theory.

c. From your understanding of the exchange systewry, shows that those
problems could have been avoided if the exchanggesytheory was
understood and applied.

130. We know that problems are non physical entitd& define problems as
negative philosophies or the application of negagitiilosophies. Given that our
intelligence always needs ideas to work, whenewedisregard our utilization
theory, we can no longer provide goods ideas tardaliigence, in this case,
philosophies are always the alternative. Givehdola system is not related to
our philosophies, whenever we disregard our utibretheory and adapt our
philosophies, we simply create problems. From wiahave learned about
problems development and problems solutions, we kbame with the following
relationships provided by the equations belowbdth equations, both the right
terms and the left terms are interchangeable.

T, {T} = problen

Tr{T} = solutior

From the above equation, we can see that we depebippems by disregard our
parent principles and apply our philosophies, whiéesolve problems by
applying our parent’s principles. Comparing thexabequations with the
preceding statement above, we can see that theyhmaty well. From the
diagram below, we can see that the negative plpliss are outside the system.
By inspection, we also see the application of thgative philosophies by the
system is what develops problems. In other wgdshlems develop by
misunderstanding and misapplying our utilizatioedty, but solvable by
applying our parent’s principles.
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Negative Philosphy

From what we have learned from the explanation epmiated to the exchange

system theory, we can conclude that we developl@mdbwhenever we

misunderstand and misapply the exchange systemythad we solve problems

whenever we understand and apply the exchangensyiseory.

a. Take your time to think about the above explanation

b. Identify and list couple of problems that are caligehave been caused by
misunderstanding and misapplying the exchange rsysteory.

c. From your understanding of the exchange systenryhebow that those
problems you have listed and identified above ctialde been avoided if the
exchange system was understood and applied.

131.From the exchange system theory, we have le@dhnee mains reason that an
exchange system is need. Given that we need tg apputilization theory to
enable our system to function normally, we canthaythe exchange system
theory was given to us by our parent to preveritara having problems in life.
By understanding it that way and the following, @@ see why and exchange
system is needed. We have provided three reasoypsmvexchange system is
needed; let’s list them again.

* We are a theory dependable system; we apply thedependently to
derive methods that are useful in life. Since ywelatheory
independently and different methods are derivenhftioeory, many of
us can derive different type of methods that asfulgo life. With
that, it makes a lot of senses for us to exchamgget methods within
ourselves so they can be helpful to each other.

* Resources that we need to live are located inrédifteplaces. Those
resources are not located at the places we arerjires makes sense
for us to exchange those resources among ourseleeder to make
life convenient.

* We are a mobile system, we move from places teplaGiven that
when we move from places to places our lives altdistctional, it
makes sense for us to exchange goods and serviteslacations we
move to in order to enable the functionality of bues. When we
move from places to places, it is not practicalusto carry
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everything that we need to live. Many things tlwatneed to live are
not movable or transportable. It makes sensec¢hange goods and
services that we need to live in order to makeddavenient for us.

a. Take your time to think about the above explanat

b. Provide a practical example related to the nreas@xchange for each
case listed above.

c. Depend how you answer part b above for the&se; you don't have to
do this one. Verity this statement by providingexample or a typical
application, since we are a mobile system, whemaee from places to
places, it is not practically to carry everythihgt we need to live. Show
that you move from location to location and it & practical for you to
carry everything or items that you need to liveouYtan make a list of
things or items that you need to live and show ithatnot possible to
move with them from locations to locations. Givbat things or items
that you need to live may depend on other thingaubritems, you may
need take them into consideration as well.

132.From the exchange system theory, we have leédha¢ exchangeable entities
cannot provide us with stability. While we use lexcgeable entities in our life,
but they can never maintain our system stabil@yr system stability can only
be maintained by our utilization theory. Giventth@ are a theory dependable
system and we depend on our utilization theoryntbée the functionality of our
live, we must always be able to differentiate otlfzation theory and other
things like exchangeable entities. The way to labit, exchangeable entities
can be considered as physical entities and thegairsustainable related to time.
It is always good to understand that. The waytklat it, our intelligence
depends on our utilization theory, but not physaraéxchangeable entities.

a. Take your time to think about the above explanat

b. Show that with a practical example whether drthat exchangeable can
maintain our system stability.

c. By now, you should already know that there ssnailarity between the
physical system stability and personal stabilierify with a practical
example that exchangeable entities cannot maintgimovide personal
stability as well.

132. We the physical system is defined as a theory digi#a system. By
being theory dependable, we use our intelligen@ppdy our utilization theory
to enable the functionality of our lives. Givemthve apply theory
independently, we can develop different methodsalauseful in life. To make
life convenient for ourselves, we exchange thosthoas among us. Given that
the resources that we use in life are located liiouva locations, we exchange
those resources among ourselves to make our loregeoient. Give that we are
a mobile system, when we move from places to pJagesare still functional, it
makes sense for us to exchange goods and servidéfeeent locations. As a
mobile system, we cannot transport everythingweheed for living; it makes
sense for us to exchange things that we needviogliat different locations.
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While we exchange goods and services that we usge imowever we still

depend on our utilization theory. Those goodsserdices that we exchange
cannot provide us with stability. Only our utiltn theory can maintain our
system stability. Those goods and services thaxghange are considered to be
physical or exchangeable entities, they are ndaswble. They cannot provide
us with stability. It is very important to undeast our utilization theory and
goods and services, which we call exchangeabléemthat we exchange in life.
Since our intelligence depends on our utilizatio@ory to function, only that
theory can ensure our system stability.

From the physical system equation, we have leatmeébllowing relationship
between our physical system and its utilizatiorotie

S=U,
Although our parent provides us with our utilizatideory that we should apply
to enable our system to function normally, somasbelieve that our
philosophies can ensure our system stability bpplirg our parent’s principles.
Given that the system was not derived by our pbpbges, it is a mistake to
assume that it can function by our philosophieg.tdking it this way, we can

modify the above equation and call it a mistakema¢ign. By modifying the
above equation, we have the one below, which welealmistaken equation.

S= Philosoph

Since many people have different philosophies, areraodify the above equation
again to accommodate for many people and manysgplues. By modifying
the above equation, we have.

S=(many peopl§ many philsophj
Now, to make the terms shorter, we replace
many people
many philosophies
By doing so or original equation becomes somethikegthat
S(xy =£n§1 x}{i M}

n=1
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By expanding the terms, we have the polynomialgres below

S(X9:(§+ )§+ )§+...+ ﬁ()( y-|- ¥+ ¥-|-+ A)

Where thex-terms are considered the number of people ang-téens are
considered to be their philosophies. If we werag®o use 2 or 3 terms
expansion, we would have something like that, where

S(XY= Xy+ X ¥+ X ¥ Xy Xy¥ X¥ X¥ ¥

The diagram below shows the meaning of the terms

X1 Y1
person one A Xhis/her native philosophy

X1
person one *iadopted/inheritated
phylosophy from person 2

X
person two f adopted/inheritated
phylosophy from person 1

By take a closer look on one of the last 3 termescan see that it looks like a
change in each person in term of philosophy, scarecall it a delta. So, we can
rewrite the last three terms as

% (Yot ¥o) =A%
(Yt Yg) =A%,
X(Yt Y,) =X

By doing the replacement above related to the 'delige have the original
equation for the 3 terms like

S(X)= Xy+ ¥ ¥+ X yrA ¥A $A

a. Take your time to think about the above explanation
b. We know that the above system equation will neeestable. Now, by
replacing the philosophy terms with the set of parent’s principles, we have
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shown that the equation becomes very stable. W#hdt by letting the
philosophy terms equate to the set of our pargmiteiples as shown below.

N
D Yn=k
n=1

Then we have something like that
N
S(Y=K X
n=1

S(R=(%x+ %+ x+---+ X) |

c. From the part b above, we have shown that onlytlization theory can
maintain our system stability. We have learn gwids and services that we
exchange and use in life cannot maintain our playsigstem stability. We
have learned that our stability can never be maietbby those exchangeable
entities. Those entities are not sustainablegéltad time. This can be shown
or proved from the equation given above. Use thmgon given above to
determine whether or not exchangeable entitiesraintain our system
stability. You can also use the equation belovead.

S(x;):()l_(+ §+ §+...+ ﬁ()( ¥+ ¥+ ¥-|-+ ry

d. We have already learned a lot about personal gtabilVe should already
know that there is a similarity between persorabiity and our physical
system stability. In other words, there is a retathip between the overall
system stability and personal stability. Depend lyour do the part above,
verify with a practical example, whether or not lexcgeable entities can
maintain personal stability.

133.Show your understanding of life related togkehange system theory. This is
the same as saying, show your understanding axbleange system theory
related to life.

133. Based on your understanding, show the relationshipe life equation
related to the exchange system theory. The litmegn is given below with
explanation on the table.

L2() =h(t) +u(?)

Lifeof Time Existing Functions of Time | Adding Functions of Time

L(t) h(t) u(t)
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134.We already know that a problem is a negativiegbphy. Problems are
developed by misunderstanding and misapplying tlization theory.

a. Refer to th@roblem Analysisand Solution Related to History
exercise; find a particular problem from historgttivas created by the
misunderstanding or misapplying of the exchangeesysheory.

b. Show how the problems could have been prevemtadoided by the
application of the exchange system theory.

c. There are many problems from history that haenlraused by the
misunderstanding of the exchange system theoryweAkave learned
previously, the resources that we need to livdarated in various places.
Given that we live in different parts of the worlgiyen that we live in
different countries, it makes sense for us to emghaamong ourselves so
we can make life convenient. By understandingettehange system
theory; we know that there is no need for one tonheach other for
resources. There are several reasons we exchesm@aces. First the
resources are located in various places. Secamdpply theory
independently to derive methods, so it makes stemses to share those
methods among ourselves for convenience. Thircdarnee mobile
system, we move from places to places. When weertmplaces, we are
still functional; it makes sense for us to get gtleng that we need to live
in any place that we are present. In this paricaase, exchange
resources make it convenient for us.

d. Use the above paragraph as a baseline to demavie or play that deal
with the exchange system. In this movie, showaib@ication of the
exchange system theory related to the understawditig theory. You
can relate the problem from history and show thetd is no need to harm
each other for resources with the understandintjeéxchange system
theory. You can take living in different countrigsd places into account
as well.

135.From the exchange system theory and from tiapter we have learned that the
items or goods and services that we exchange ampletely different from us.
We have learned how to distinguish exchangeabléemnt We also know how to
distinguish ourselves from the entities that wehexge. Based on our
observations, we have been able to separate ahaamd entities that
participate in the exchange as well. For our beftelerstanding of those
entities, we have been able to define them as \vitgh. very important to
understand that. It is very important to be abldifferentiate and distinguish
exchangeable entities and parties that are pateip the exchange.

One important thing we have learned form the exghaystem theory related to
our physical system, is that our system dependsuomitilization theory while we
use exchangeable entities in life. In other wowds]e we use goods and services
in life, but we depend on our utilization theorydahose goods and services that
we exchange cannot ensure our system stabilityy @m utilization theory can
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maintain our system stability. Another way to laikt, our system depends on
our utilization theory, but we use exchangeabléiest It is very important to
distinguish and separate exchangeable enticesdurratilization theory.

As we said before, one of the most important pples from the exchange system
theory is to be able to differentiate and distisguihe exchangeable and non
exchangeable entities. To help us understandfereintiate and distinguish the
exchangeable entities, we have come up with theviolg diagram, where we
separate items that we exchange. For example; &ltnag of potatoes can be
presented in the following form. In this case, éixehange exchange money for
a bag of potatoes presented on the diagram below. From thisrdiagwe can
see the separation of the bag of potatoes and nakewe can see clearly they
are separate entities.

@ exchagne > Money for ' abag

of
potatoes

Now, let's show the completion of the transactigralblock diagram. The
diagram below shows the cyclical approach of theharge. It shows that | give
you money and you give me a bag of potatoes. Afgam this block diagram,
we can see clearly the exchangeable entities anpldtiies that are participate in
the exchange. We separate everything so we camatifiate and distinguish
both the parties and the exchangeable entities.

I/Me You

e e b

to a Bag give
of Potatoes <
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From the diagram above, let's do some analysi©ierexchangeable entities. We
know that we exchange money for a bag of potat¥és.know that both money
and the bag of potatoes are exchangeable entWgbat is important here, since
whenever we use the word exchange, buy, sell, tiegleyclical, it is very
important to look at the value of each exchangmel#, which we call
exchangeable entities. In this case, we can say iwlthe relationship of money
related to the bag of potatoes? What is the vailtlee bag of potatoes? To better
understand the analysis process, let’s do thevialig, let’s represented the
exchangeable entities, which are the money antidgeof potatoes by their
equivalent below.

Money="?

BagOfPotatoes ?

From the equations above, we want to determingdhes of money that we

exchange for the bag of potatoes and the valuleedbag of potatoes itself.

a. Take your time to think about the above explanation

b. From the relationship shown by the equations abde®rmine the value of
money and the value of the bag of potatoes.

c. Conclude with a practical example related to yasutt from the equation
above.

d. Given that we have been able to differentiate astinguish exchangeable
entities, given that we have been able to sepasatieangeable and non
exchangeable entities, when we see them we thifdeeintly about them.
The way to look at it, by separating exchangeabterson exchangeable
entities, we think completely different when we s@ehangeable entities than
when we see non exchangeable entities. In this é@sn exchangeable
entities we may think one way, while from non exulable entities we
might think completely a different way. By separgtexchangeable entities,
we know what they are; in this case we may haverdifit way of thinking for
each specific entity. Related to the way you heav@vered part b above, state
what do you think when you see the exchangeabity enbney, and the bag
of potatoes itself. If you think differently fomeh of them, show any
relationship that may lead you to think differently

e. Since we are mobile and we move from location®tations. Given that
when we move from locations we are still alive &matctional, it would have
been nice for our exchangeable entities to holdf ttedues at all locations.
Given that we live all times, it would have beeoenfor our exchangeable
entities to hold their values related to time a.weepend how you answer
part b above; you should quickly see here monélyeexchangeable entity
we are talking about. For this part, pick up yoountry currency or any
money you which to use and determine the following.

* Initial value
» Exchange value
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* Relative value
What we mean by relative value, we mean the retginalue related to time.
To do this, you may need to have a table and ugéirae frame your wish
like 50, 100, 150, 200 years, etc. You can also500 years if you wish as
well. Use this table as a guideline for exampleu can use bigger
increment, as you get closer to today time, ussele@sacrement.

Time Relative Value
1500 Value 1
1550 Value 2
1800 Value 3
1900 Value 4
2000 Value etc

The way to look at it, you should have three pagshown below. You
should have a graph for the initial value, onethar relative value and one for
the exchange value.

anjeA emu|
aneA aAne|ay
pnje A abueyoxy

! time | time time

Provide an explanation for each of the graph ab@&teow any relationship
between them. Define the tetnitial Value of the entity you have plotted.

f. From your part b above, you have determined thagevaf the bag of potatoes.
Disregard the way you can interpret this valudpis not matter. Here, plot
the value of the bag of potatoes you have idedtdieove related to time.

You may need to use the same part you have usettlir® one above. Do a
side by side comparison of this graph and theivelatalue graph above.
Show and explain your observation and any commemntnyay have.

g. From the time chart, we have seen that the chaistateof the physical
system remain constant related to time. Disregawhat time we point on
the chart; it does not matter if we point to pasetor future time, our
characteristic remain constant. For instance, wealafined as a theory
dependable system. From the past, we have berredels a theory
dependable system and in the future, we are siitiggto continue defined as
a theory dependable system. Since our charaatatists not change related
to time, our utilization theory does not changated to time as well. Itis
very important to understand that. Related to wehave just said about the
exchange system theory; based on the graphs abtnaks our data does not
behave accordingly. From theory and system relakipp, we know that in
order for our system to function normally, our izakion theory must be
applied. Whenever we talk about functionality afyatem related to time, we
always have the word stability in mind. So in orfie a system to work and
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continue to work normally, it must be stable reldtte time. That means, as
time goes, that system must continue to work ndgméatrom our
observation, it seems like the behavior of our @ateot normal related to
stability.

h. Take your time to think about the above paragraghuse it as a guideline to
show any instability you have observed from youada your graph related
to our functional system based on misunderstanatimgisapplying our
utilization theory. You can also provide a praatiexample in your answer
here.

i. Resources that we need to live do not locate inptenee, they locate in
various places. Previously, we have shown thegfloglative and exchange
values of money. We have also plotted the valub®bag of potatoes
related to time. Here, you need to plot resoureksed to time. Assume
resources in the potatoes domain. Now, comparelaiuo the relative value
of money and provide some explanations. Thinkakisnly an
approximation.

136.From the above exercise, we have learned heegarate and distinguish
exchangeable entities. From the above exercisbawe also thought differently
when we see exchangeable entities. For exampe, wkien we use money to
buy a bag of potatoes, when we see money we thiifgtehtly than when we see
a bag of potatoes. That makes a lot of senses #iey are completely different
and separate entities. Since we exchange mongpéats and services, in this
example, we are going to take a look of servickgead to money that we
exchange. Below, the diagram shows that | exchargeey for fixing my car.

e exchagne > Money for ’

Fixing
My Car

Since exchange is cyclical, we can also say thagiveemoney to the mechanic
and the mechanic fixes the car for us. In thiecag have the diagram below
that shows the cyclical.
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I/Me Mechanic

S e e

for My fixes
Car < o

a. From the explanation above, determine the valubefixing of the car as
shown by the equation below.

FixingMyCar="?

b. Depend how you answer the above part, when yoyaaecar being fixed,
you might think differently than when you see themay. If so, provide any
explanation that may lead you to think differently.

137.We have learned the following relationship leswtheory, theorem, and
method. We know that theorems are derived frorartes, while methods are
derived from theorems. Another way to look atig can say that a theory is a
set of theorems, while a theorem is a set of math®le may have already seen
the diagram bellow which shows the relationshipMeen theory, theorem, and
methods.
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Method
S
Method g
A g
>
Q O
§ Theorem
)
=
o
8
B
Theor =
Y 3
=
o
Theory

Since we say theorems are derived from theory agttiods are derived from
theorem, we can also say that theory gives risegorems, while theorem gives
rise to methods. As shown by the diagram abow, tat relationship, we can
also say that theory gives rise to methods.

Related to the exchange system theory, we carhsayhie exchange system
theory gives rise to some set of principles or thaws, while those theorems give
rise to methods. Since methods are functions tekes, we can also say that
those theorems give rise to methods. With thathaxes the following
relationship described by the following diagram.

Some Methods Some Types of Methods
Some Types of Theorems Some Types of Theorems
Exchagne System Theory EST

The way to look at it, the exchange system theorgggrise to some type of
theorems, while those theorems gives rise to sgpestof methods. Since we
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already know that methods are functions themseilves;an say that the
exchange system theory gives rise to some typgeofems, while those
theorems give rise to some type of methods. s telationship, we can
conclude that the exchange system theory givesaiseme types of functions.

From the definition of life, we know that life isade of two set of functions.
These two set of functions are, existing functiand adding functions. To
refresh our understanding of life, let’s repreddatby the diagrams below. Both
diagrams show the representation of life. Oné&dw life is represented by a set
of functions in a rectangle, while the other sholat in a circle.

Life

Existing Functions

Function 1

Function 2

Function 3

i)

Function etc.

Adding Functions
Function 1 Life

Function 2

Function 3

Function etc.

a. Take your time to think about the above explanation

b. Based on your understanding, determine whethefutietions that are
derived from the exchange system theory are coreside be existing or
adding functions. The way to look at it, determivigether those set of
functions are included in the existing set of fimaes of life or in the adding
set of functions of life.

137. We have learned the following relationship betwterory, theorem, and
method. We know that theorems are derived frorartes, while methods are
derived from theorems. Another way to look atig can say that a theory is a
set of theorems, while a theorem is a set of math®le may have already seen
the diagram bellow which shows the relationshipMeen theory, theorem, and
method.
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Method
S
Method g
A g
>
Q O
§ Theorem
)
=
o
8
B
Theor =
Y 3
=
o
Theory

Since we say theorems are derived from theory agttiods are derived from
theorem, we can also say that theory gives risegorem, while theorem gives
rise to method. As shown by the diagram above thiat relationship, we can
also say that theory gives rise to method.

Related to the exchange system theory, we carhsayhie exchange system
theory gives rise to some set of principles or thaws, while those theorems give
rise to methods. Since methods are functions tekes we can also say that
those theorems give rise to methods. With thathaxes the following
relationship described by the following diagram.

Some Methods EX(t)
Some Types of Theorems Some Types of Theorems
Exchagne System Theory EST
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The way to look at it, the exchange system thetrggyrise to some type of
theorems, while those theorems gives rise to sgpestof methods. From what

is shown by the figure above, we IEiX(1) be the function that are derived from
the theoremsESr gives rise to. Since we know that methods aretions
themselves, we use function’s naf(t) instead.

From the life equation, we know life is made of tee&i of functions which is
provided by the equation below and described orniabie.

L(t)=h(t)+u(t)

Lifeof Time Existing Functions of Time | Adding Functions of Time

L(t) h(t) u(t)

Where h(t) andu(t) are defined by those equations.

hmzimw

u@zi%w

a. Think about the above explanation
c. Determine whetheEX(1) is a function ofh(t) or u(t) and state why. The

way to look at it, determine and explain if the huets mentioned here
derived from the exchange system theory is belorige group of existing
functions or the group of adding functions.

138.Verify that existing functions are not exchaaige. You may provide a practical
example in your workout and show your observat®mwall.

138. Using algebra to verify that existing functions ac¢ exchangeable. You
may provide a practical example in your workout aad your observation as
well.

139Understanding Passive Theory: We define a passive theory as a neutral theory,
since it does not affect the system before or aféege. For instance, the gaming
theory is considered to be passive, since the palysystem remains unchanged
before and after usage; see the table below. &uriv the passive theory, we
can call our utilization theory, active theory,aants utilization enables both the
physical and the functional systems to remain aativfunctional. You may not
agree; however it is strongly believed that the iggntheory is passive. Describe
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whether or not the gaming theory is passive. Vdbave mean by game, for
instance football, soccer, basketball etc?

Person Person
Before Game After Game
Status Normal Status Normal

139. Understanding Passive Theory: In order for a theory to be passive, if it is
used by a system or used in a system, there sheuid effect in that system or
by that system at all. That means, after usagesyhtem should remain the
same. For example, the Gaming ThedBy ) is considered to be a passive

theory. See the table below for more information.

Person Person
Before Game After Game
Status Normal Status Normal

The way to look at it, a passive theory must bewatnal theory; that means it does
not produce any effect at all by that system dhat system.

s > T{e} >
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In order for the theory depicted above to be passhe operation of the right side
must be equal to unity as shown by this equatiime output should give a result
of the same system without any effect.

T{G}=1

a. Think about the above explanations

b. Show whether or not the gaming theory is passivis strongly believed that
G, is passive; you might disagree or agree; if you'tdagree show it; also if
you disagree show it. When we talk about the ggrtheory, we mean that
for example soccer is a game and all other garkedasketball, football etc.
All that you are asked to do is to show titis passive to the system above.

From the equation above, 1 is referring as unity.

140The Purpose of a Given Theory: From theory and system relationship, we have
learned that a theory is associated to a systender to be used to ensure that
system functionality. Related to us and our pasgninciples, we can say that
our parents give us principles, so that we canyaippbrder to ensure our
functionality. That makes a lot of senses, siheedocumentation of a system is
considered to be that system functional theorypdglknows more about that
system than its documentation. So the purposeabfdocumentation or that
theory is to enable the functionality of the asated system. Related to our
utilization theory, there is no difference. Nobddyws more about our
functionality than our parent’s principles. Nobddyws more about life than
our parent’s principles. Thus, our parent’s piphes are the only one that can
ensure our functionality. Given that we are a tiietependable system, we do
things based on our ideas. Theory gives us ided®w to do things. Without
theory, we are in the dark; we don’t know how totlhiogs. Without theory, we
would not have any idea on how to do things.

With our knowledge of understanding our utilizatitbeory, we have been able to
group them and identify them to enable us to usmtimore efficiently. By
grouping our parent’s principles, we come with sahthem listed on the table
below with their names and their abbreviation.

Theory Name Abbreviation
Communication Theory KT
Instrumentation Theory |T
Information Theory iT
Theory of Marketing |\/|T
Exchange System Theory Esr
The Gaming Theory Gr
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a. Take your time to think about the above explanation

b. For each theory listed from the table above, sh@ir purposes or the
purpose of their applications. In other words,vghioe reason or the purpose
of each given theory above. Provide a practicpliegtion for each. You can
also provide a misapplication example for each @l w

141.Show your understanding of the theory of mamgetelated to portability of
theory. This is the same as saying that show yoderstanding of portability of
theory related to the theory of marketing.

147. Use algebra to show your understanding of the thebmarketing related
to portability of theory. This is the same as sgythat show your understanding
of portability of theory related to the theory o&rketing by using algebra.

142.Show your understanding of the exchange systeory related to portability of
theory. This is the same as saying that show yoderstanding of portability of
theory related to the exchange system theory.

143.Show your understanding of the physical systelincontrollable characteristic
related to the exchange system theory. This isdéinee as saying, show your
understanding of the exchange system theory retattte physical system self
controllable constant characteristic.

144.From the visual representation of life, we haveady answered the following
guestion. If the existing functions become dysfiamg then life becomes
dysfunctional. In term of both added and exisfumgtions, let’s represent life
again by the diagram below.

Existing Function

Added Function

Life
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By observation and by our understanding of life,o&a see that the existing
functions may not become dysfunctional abruptly,related to time, they can
undergo a declining process where they can becgsfartttional.

a. From your observation and from your understagndirife, what type of
function you think life is?

b. Depend on how your answer the question abouecgo see that the
declining process of life can be attributed to esealated to time. The
way to look at it, since each function weight de,lany event that is
related to the declining of a specific functiomigighted to life as well.
With that, if we would like to plot life related tther functions that
include in life by plotting each function separgtelny declining we
observe in one can attributed to the decliningfefds well. To better
understand the process of declining life relatetinte, it makes sense for
us to go back in time and look at some eventshdtattributed to the
declining of life. It does not matter how much ¢inve use, we can use
100 years or more, we can also use less than Hi8.y# this case, we
can plot life and show the declining related toetifar each particular
event. Plot the declining of life related to es2at some events in history.
Use 100 years or more; you can also use less agears if you want
to. The way to look at it, make a table as shoelow. In that table,
tabulate the years and event and give them a v#loeinstance the most
significant event is going to have more value. Yan sum the value to
give you like 70% or 80% decline. That number doatsmatter, what
matters is for you to show the drop related to evenhistory. Depend
what time you use, you can say that life was notiniag before that time.
You can have a plot similar to the one below fatamce.

You can have two plots, one smooth and one non gntoshow the
sharp drop. Rather than using history, you cam @bgproach this exercise
by using some functions that include in existingdiions and look their
declining related to time. You can give them areadnd tabulated them
for each declining or major declining and plot li#fe the result.

Y ear Events Value
Year 1 Event 1 2%
Year 2 Event 2 1%
Year 3 Event 3 3%
Year 4 Event 4 1.5%
Year 5 Event 5 5%
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kf 777777777777777777777777777777777777777777
I ————
—
\
time
Year 1 Year 2 Year 3 Year 4 Year 5
Event 1 Event 2 Event 3 Event 4 Event 5
144. From the life equation exercise, you may have diremswered this

guestion; show that
L(t)=0,if h(t)=0
Q(’[) was given by the following equations

£() =h(t) +u(t)

(=3 () a0 u()= . (0

m=1
L) =h@®)+hO+h()+--+u(d+ud+ uf Y+

By observation and by inspection we can see h(i) may not abruptly goes to

0O, but may undergo a declining process relatedne that can approad.
a. From your observation, what type of functionl@(t) . Simply name the

type of function you think,@(t) is.
b. Depend on how your answer the question above, goisee that the
declining process of2(t) can be attributed to events related to time. The

way to look at it, since each function Weightsﬁ(t) , any event that is
related to the declining of a specific functioraiso weighted on2(t) as
well. With that, if we would like to plot2(t) related to other functions that
include in.2(t) by plotting each function separately, any dectinive
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observe in one can attribute to the declining/éft) as well. To better

understand the process of declinifg(t) related to time, it makes sense for
us to go back in time and look at some eventshadtattributed to the
declining of 2(t) . It does not matter how much time we use, weusan
100 years or more, we can also use less than Hi8.yé this case, we can
plot Q(’[) and show the declining related to time for eadti@dar event.

Plot the declining of2(t) related to events or some events in history. Use

100 years or more; you can also use less than 8@ yf you want to. The
way to look at it, make a table as shown belowthat table, tabulate the
years and event and give them a value. For instdr@most significant event
is going to have more value. You can sum the vedugve you like 70% or
80% decline. That number does not matter, whatemsais for you to show
the drop related to events in history. Depend wiha you use, you can say
thatg@(t) was not declining before that time. You can haydot similar to

the one below for instance.

You can have two plots, one smooth and one non gtntoshow the sharp
drop. Rather than using history, you can also @ggr this exercise by using

some functions that include #(t) and look their declining related to time.
You can give them a value and tabulated them foln éaclining or major
declining and plot2(t) as the result.

Y ear Events Value
Year 1 Event 1 2%
Year 2 Event 2 1%
Year 3 Event 3 3%
Year 4 Event 4 1.5%
Year 5 Event 5 5%
k, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
\\

time
Year 1 Year 2 Year 3 Year 4 Year 5
Event 1 Event 2 Event 3 Event 4 Event 5

www.speaklogic.org Copyright © 2011The Speak Logic Project




414

145.We have learned about characteristics of wanglapw we should have a very
good understanding of words’ characteristics. Fommunderstanding, it seems
like not all words have characteristics. That mejl be true, but sometime it is
always better for each of us to figure that out.
a. Take your time to think about the above pardgrap
b. For the exchange entity money, state whethaobit does have a
characteristic. If it does, state the characteratd verify your answer. |If
it does not, justify your answer as well.

146.Show your understanding of the gaming thedated to the theory of
marketing. This is the same as saying, show yondetstanding of the theory of
marketing related to the gaming theory.

147Understanding our Utilization Theory: The understanding of the word theory
itself had helped us identify and group our paseptinciples. By grouping and
naming our parent’s principles, we have been abiddntify them easily and
work with them more efficiently. By now, we shouldve had a very good
understanding of our utilization theory. By graugiand identifying our parent
principles to form our utilization theory, we has@me up with 10 set of
principles. We have identified them, named themd, @bbreviated them to help
us work with them more efficiently and to makeaseer for us to recognize
them. The table below shows the grouping of ouemigs principles which
forms our utilization theory with their names ahdit abbreviations. Don't
worry about the order of our theory; it can bemy arder. All we need to worry
about is the names, the abbreviations and the igjeantAfter all, that may not
even be important at all, what is the most impdrtanus is to learn and apply
our utilization theory.

Order Theory Name Abbreviation
1 The Communication Theory KT
2 The Information Theory It
3 The Instrumentation Theory |T
4 The Power Theorem PT
5 The Theory of Education ET
6 The Theory of Marketing |\/|T
7 The Exchange System Theory Esr
8 The Gaming Theory GT
9 The Work Theory V\[r
10 The Theory of Reproduction XT
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We are defined as an associative system. The@\ugy one can live without
the need of another. We interface together to kdatwe do. In terms of our
utilization theory, it seems like every time weeirdgct with each other, there is a
set of principles that is needed for that intectiIn other words, every time we
interact to each other, there is a set of prindipde is needed to manage that
interaction. That makes a lot of senses, andvieiig important to know. The
diagram below shows exactly what we have just Bard. Every time the local
system interacts with the distant system, theeesst of principles that is needed
for that interaction. The way to look at it, eveirpe | interact with you, there is a
theory that is needed for that interaction. Tregchm below shows the
interaction between the local system and the distgstem.

Interact

Local System Distant System
I You

To better understand what we have said above,dayst again. Given that we
are an associative system, related to our utibrateory, it seems like every
time we interact to each other to do somethinggethee some set of principles
that are needed to control that interaction. Tiwaece our understanding, let's
take a look of this table to see what we are tallahout.

I nteraction From One to Another Theory

We interact to communicate with each other KT
We interact to inform each other -

We interact to use our instruments for each other IT

We interact to market to each other MT
We interact to exchange with each other Esr
We interact to play with each other GT
We interact to work with each other \Nr

Given that that a lot of problems are caused dukddact that we don’t know
how to interact to each other, it makes senseddo dollow some set of
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principles to interact with each other. Take yune to think about the overall
explanation to see if it makes sense to you.

148.From the exercise above, we have learned niangt aur utilization theory. Not
only we have identified all of them, but we haveodlkearned that they are needed
whenever we interact to each other. It is veryangnt to understand that, since
we live in an associative system and our lives ddp each other, we must
learn how to interact with each other based orutilization theory.

a. Use the table below as a guideline to draw iticeller interface from you
to another person. Use “I” for you and “you” ftwetother person. Put
yourself in the middle and the other persons argund In the interaction
link, put the theory you have identified that cotdrthat interaction. See
the diagram below on how the theory controls theraction. You should
have two diagrams and two tables; do the tablesbgfore each diagram;
one table for all type of applications which we cafl generic, then the
other table for specific application.

Interaction From Oneto Another Theory
We interact to communicate with each other KT
We interact to inform each other |T
We interact to use our instruments for each other |T
We interact to market to each other MT
We interact to exchange with each other ESI_
We interact to play with each other GT
We interact to work with each other \Nr
< Interact >
I KT You

b. For this one, use the 7 theories shown on thle &bove. Draw a diagram
for each of them and put the proper word in the. bidse “I” for you and
“You” for the other person. You should have altofal4 diagrams, two
set of 7. One set for all type of applications] ane for specific
application.
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FENEN x

c. Provide an explanation for each case you haarfor part b above.

d. From the exercise above, we have said that welae a lot of problems
since we don’t know how to interact with each oth&mce interaction
with each other requires the usage of our utiliratheory, whenever we
disregard them when we interact with each othersivwply develop
problems. Verity this statement; identify coupfeomblems or couple of
cases that have been caused by interacting withaher. In other
words, identify couple of problems development sabat have been
caused by disregarding the principles that we usenwve interact to each
other. The way to do that, tabulate the 7 theaies/e, and provide
couple of problems examples for each case. Yowaare multiple
problems for one case.

e. We know that problems are developed when olizatton theory is not
applied, but solvable when we apply our utilizatthaory. Based on the
result above, we see that problems happen duregntaraction when we
don’t apply our utilization theory. Since any plem that happened
during the interaction, happened because we didpyly our utilization
theory, those problems are only solvable when vipdyagur utilization
theory. It is very important to understand thitom the part d above,
show that those problems could have been avoidaud ifitilization theory
was applied to guide us when we interface to edloéro Another way to
look at it, is to have the table above with thebpems and one column
with the solution and provide possible solutiondach and show that they
could have been avoided.

f. By working out all the steps above, we have shdwe importance of our
utilization theory. Since we develop a lot of deybs when we interact
with each other without the usage of our theonyseia lot of problems
can be developed without the usage of our utilratheory when we
interact toe each other, we can clearly see thatitlization theory is
very important to us, since it enables us to imtiet@ each other without
problem. If you haven’t done so, use the theated in the table below
and show what would have happened without theengst of our theory.
In other words, by using out 10 theories, you damwsthat what can
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happen or what could have happened if those thediienot exist. You
can take it like this, without the existence of@pe theory, that problem
can be developed; without the application of thecefr theory, that
problem could have been developed; without thetexce or the
application of specific theory, problem is develdpén this case you can
conclude in your work out that our utilization theor specific theory is
very important to us, since it prevent us from depmg problems. It
makes sense for them to exist; it also makes densis to apply them.
You may exclude theory of education in your workout

Order Theory Name Abbreviation
1 The Communication Theory KT
2 The Information Theory It
3 The Instrumentation Theory |T
4 The Power Theorem PT
5 The Theory of Education ET
6 The Theory of Marketing |\/|T
7 The Exchange System Theory Esl_
8 The Gaming Theory GT
9 The Work Theory \NI'
10 The Theory of Reproduction XT

d. For the 7 theories listed in part a, each theonylimaverify by asking
specific question relates to the physical systé&ior. instance, to verify
theory of communication, we can ask question likee| communicate?
The answer iges then that theory is verified related to the sysieis
attached to. The way to look at it, in order faheory to be verified, the
system it is related to must be able to respond tim other words, the
theory is verified by that system, since they atated to each other. Use
the same pattern to verify the remaining six thesori

149.We know that problems are not physically defin@/e define a problem as a
negative philosophy that enables life to functibn@mal. The way to look at it,
the application of negative philosophies develapblems. Those can only be
solved by dropping those philosophies and learnagpdly our parent’s
principles. The fact that we are a theory depeledsystem, our intelligence
always depend on theory and it needs theory tadgas on how to do things.
When we disregard our utilization theory, our iligeince simply depends on our
philosophies. Since our philosophies are notedl& our system, when we
depend on them, we simply develop problems. Teesiblose problems, we
must always learn and apply our utilization theoBur utilization theory
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includes the work theory and the reproduction thehenever we disregard or
misapply those two set of principles, we simplyelep problems in life.

a. Take your time to think about the above pardgrap

b. State or list couples of problems that are ahbgemisapplying or
misunderstanding of the work theory.

c. From your understanding of the work theory, shtimat those problems
could have been avoided if the work theory was tstded and applied.

d. Think about couple of problems that are causeithé misunderstanding
of the reproduction theory.

e. From your understanding of the reproductionmhetink if those
problems could have been avoided if the reprodndtieory was
understood. Think about this part only as yourkeat without working
it out on paper.

150.Show your understanding of the physical systelfncontrollable characteristic
related to the theory of marketing. This is theeas saying that show your
understanding of the theory of marketing relateth&oself controllable
characteristic of the physical system.

151.Show your understanding of independency ofrthesdated to the theory of
marketing. This is the same as saying that shaw yoderstanding of the theory
of marketing related to independency of theory.
Note
This is an update of the exercise number 63 andu&3? workout the additional theory
that you did not workout previously. You don’t leeto workout the overall exercise, just
workout the part that is applied to you.

152.0ur utilization theory was given to us by thevpous table. In term of the
application of our utilization theory, we know thiae application of our
utilization theory enables the functionality oklif In other words, when we apply
our utilization theory, it results to functionsldé. The diagram below provides
more explanation on what we have just said.

Our —p Apply —p
Utilization
Theory

Life

Now let’s represent couple of theories that makeuwrputilization theory on the
table below. Where the application of those the=oresult to function of life.
The last column on the table shows the functioneeasult by the application of
those theories.
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Given Theory Abbreviation Result Function
The Communication Theory KT
The Information Theory |T
The Instrumentation Theory i
The Education Theorem ET
The Gaming Theory (3T
The Work Theory \Nr
The Theory of Marketing MT
The Exchange System theory Esr
Theory

By understanding the overall explanation, all yeeadto do, fill the result
function column above by providing a practical epérfor each theory
application. In other words, the application ofle#heory results to function of
life. In this case, you are going to provide actical application of the resulting
function. You can also show the application byaghm similar to the one
above, if you want to.

152. We know the transform of the system equation predulbe life equation.
As shown by the equation below and the systeneatibn theory is given by the
second equation.

T{Ur} =20
Up ={K;+ip+1 +Pr+Ep+ M 1+ ESpe Gre Wer X

Now, let's make the following table from the abaaguation. The result to the
right shows the transform for each term; don’t wabout the order of existing
and added function and also the length of the egjuat

Given Theory | Transform of Given Theory Result
K, T, (K} hy (1) + uy (1)
T T{1) (0 + (D
Iy T.{i1} hy (1) +uy(1)
E, T{&] , (0 + U, ()
G, T{G] Ay (0 + (D
W, T, {\Nr} hg (1) + ug ()
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My (M) B (0 + (D)
Es, T {Es) (0 + (0

Now, we can rewrite the life equation in the forfrunat shows below by simply
rewrite the terms from the table above.

T{Ur} =+ u(d+ h(d+ u()+ 3+ ul 3+ X+ y X

By rearranging the terms and use the summatioriontave have

U= 00 Zuw)| - c0=[Zh0 Zuo

All what you need to do, for each transformatioeatty listed in the table above
relatively to its result, show the practical apation of life. For instance you can
provide an example to show the application of thaory related to life; whether
it applies or not or should be applied.

153.Show your understanding of the physical systesociativity characteristic
related to the theory of marketing. This is thme as saying show your
understanding of the theory of marketing relateth®associativity characteristic
of the physical system.

154.Show your understanding of independency ofrtheddated to the exchange
system theory. This is the same as saying that sar understanding of the
exchange system theory related to independendyeofy.

155.This exercise can be substituted for the ongedepends how you work it out,
show your understanding of the physical systemrihdependability
characteristic related to the exchange system yhemmis is the same as saying
that, show your understanding of the exchange sy8teory related to the
physical system theory dependable constant chaistte

156.Show your understanding of the physical systesociativity constant
characteristic related to the exchange system yhemmis is the same as saying
show your understanding of the exchange systemmthretated to the physical
system associativity characteristic.

157Understanding our Utilization Theory Related to Us: We know that our
utilization theory contains 10 set of principles)ieh we call 10 theories. We
know that a theory contains the set of principhet enable a system to function
normally. Our utilization theory contains the eéprinciples that enables the
functionality of our lives. A theory contains sétprinciples that gives us ideas
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on how to do things. Our utilization theory contathe set of principles that
gives us ideas on how to do things. Given thatiifa system, and a system
must function according to its utilization theooyr utilization theory contains
set of principles that tell us how life works. \lilee by doing things; our
utilization theory gives us ideas on how to do ¢isin

Given that we are a theory guided system, we havetalligence that works with
theory to give it ideas on how to do things. Weatly know that the functional
system—Ilife—is a collection of functions. We lilsg executing functions. Since
those functions are methods that are derived ftarartes, without our utilization
theory that tell us how life works, there is no weag can execute methods
properly or derive proper methods in life. Thegdaam below shows the
representation of our utilization theory relatediso The first one shows that we
are a theory guided system, and we depend on tizatibn theory. The second
one shows that all of us depend on the same thefince we are an intelligent-
system and intelligence needs theory to functioa third one shows the
dependence of our intelligence from our utilizatibaory. Take your time to
think about the diagrams and the explanations.

g ‘ guides Utilization Theory @ %Our Utilization Theory

System Us
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g < guides| 5r Utilization Theory

Him/Her

Our Intelligences 999 | Our Utilization Theory

Note:
The items below are an addition to what you haveeadly learned from your
managersupgiser or perhaps your instructor about the work theory.

158An Introduction to the Work Theory: By now, we should have a very good
understanding of life. We use the word life intemecgeable with the term
functional system. While both of them are the sabut sometime it is always
good to refer to life as the functional system. eméver we use the term
functional system, what comes to our mind is tifatis made of many, many
functions. So, whenever we mention life, what we are a lot of functions that
are being executed. Those functions are existingtfons and adding functions.
In terms of adding functions, whenever we use tiah it always good to think
that those are useful functions that we add ta li#®e can also say that the
adding functions are functions that come afterteagfunctions.

Since all systems obey some rules of operationneder we talk about life, we

should never forget our utilization theory. Thadkes sense, since our utilization
theory is the set of principles that enables timetionality of life. From what we
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know about the relationship of life, ourselves awd utilization theory, we know
that as a theory dependable system, we have thigy abiapply our utilization
theory to enable the functional system to remativac With that, we can clearly
see that we apply our utilization theory to enatleselves to remain active. In
other words, we can also say that the applicatfauo utilization theory enables
us to maintain our activities.

When we work, we simply execute functions of lifQuickly, we can define
work as execution of functions of life. That malekt of senses, and it is well
matched with the relationship of us, the functiosgstem, and our utilization
theory. While we get knowledge from our utilizatitheory by applying it to
execute functions of life, the executions of th@sections enable us to remain
active. In other words, while our utilization tmgoenables us to execute
functions of life, the execution of those functie@rsables the functional system to
remain active. Lastly, we can say that work is phecess of applying theory to
execute functions of life. The terms execute fioms means both derive and
execute.

159Understanding the Work Theory: We the physical system is defined as a
theory dependable system. As a theory dependaseens we have an
intelligence that enables us to apply theory taveeand execute functions of
life. To better understand our system related to mtelligence and our
utilization theory, it is always good representnthby a block diagram. The
diagram below shows that theory gives ideas tardaligence. We can also say
that theory gives ideas to our intelligence to émais to execute functions. The
second diagram shows that we get ideas from theomnable us to execute
functions.

Theory - Givesideastgy,  QOur Intelligence

input Us

Theory gives ideas to > @

output

t t .
2= P Functions

Physical System

From the diagram above, we can see that as aselbtlable system, we depend
on theory to gives us ideas to enable us to exdoaotdions of life. It is always
good to understand that the functions that we erdadife are related to the
ideas that we get from theory. Given that worthes process of executing
functions of life, the ideas that we get from theenable us to work. While the
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diagram above shows that we get ideas from th@oexeécute functions, it is
always good to represent a related block diagrandmows the application of the
theory. The diagram below is similar to the onewvab It shows that we apply
theory to execute functions in life. Since workhe process of executing
functions in life, we can simply replace the phrédsenctions in life” by “Work”.
This is basically what the second diagram showshdws that we apply theory
to work. That makes a lot of senses, since wea aedf controllable system, as a
self controllable system, we rely on theory to giseideas to execute functions of
life. This is what the diagram shows. It showet tive apply ideas that we get
from theory to work.

@ apply ' Theory to execute '
Functions
in life
We
g - apply Theory L
Work
We

From the diagram above, it shows that when we waeksimply execute
functions of life and when we execute functionsifef we also work. It is very
important to understand that relationship.

We know that the physical system is defined asrthdependable and self
controllable; the term theory dependable maps hagetith self controllable. We
know that we are an associative system. As arceds@ system, our lives
depend on each other. There is no way one peesohve without the need of
others. When it comes to theory application, d@ligays good to understand the
terms self controllable, theory dependable, andaasvity. We know that we
apply our utilization theory to enable us to exeduictions of life. While we
depend on each other to live, however we canndydpeory for each other. Itis
very important to understand that and we have @yrézarned that before. The
way to look at it, while we work together to exextunctions of life, however
each of us apply theory independently to execudséliunctions. As a theory
dependable system, it is very important to undadsthat.

Theories are useful to us since they give us itleagecute functions in life.

While theories are useful, they also develop proklevhen they are misused or
disregarded. We know that problems are definedisapplication of theories or
application of negative philosophies. In other dgymwe create problems when
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we disregard our utilization theory and apply oegative philosophies. Given
that the functions that we execute in life relyaum ideas, whenever those ideas
are not good the functions that we execute willexacute properly. The results
of those executions will develop problems in lifeis very important to
understand problems development from negative piyilbies related to functions
executions in life. The diagrams below show wtegigen when we misapply or
disregard theory to execute functions in life. Tingt diagram shows that we
develop problems in life when we misapply theorfjleithe second one shows
that whenever we misapply or disregard theory tckywwe simply develop
problems.

@ misapply ' Theory to execute'

Functions
in life
We
g misapply ' Theory to '
Work

We

Since life is related to our utilization theory,arder to solve and prevent
problems in life, the functions that we executéfenmust be related to our
utilization theory. The way to look at it, it ibansys good to apply our utilization
theory to execute functions in life or execute tiors in life related to our
utilization theory.

a. Take your time to think about the above explanation

b. What is the work theory?

c. The function of the physical system is to applyotiyeo enable the
functionality of life. Verity this statement byguiding a practical example.

d. The function of the physical system is to executefions to enable its
functionality. It can be shown that there is aikinty between work and the
function of the physical system. It can also bavaithat there is a similarity
between the physical system’s functions and thaiphlysystem itself. Verify
that statement.

e. Verify that work is a contribution to life; you mayso provide a practical
example.

f.  Verity your understanding of the work theory rethte the following constant
characteristics: self controllable, theory depetelassociativity. There is a
relationship between the works theory and all tlwe@®bined. You may show
your understanding of the work theory related &t tielationship. You may
also provide an example if you want to.
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g. Verify your understanding of the work theory rethte independency of
theory.

h. We define problems as misapplication of theorieapplication of negative
philosophies. Verity that definition related tonkdy providing a practical
example.

i. Show your understanding of our utilization theaglated to execution of
functions in life. In other words, show your unstand of our utilization
theory related to work.

j- Which of those two statements make more senseu@yd why:
Misapplication of theory to work develops probleatsvork. Misapplication
of theory to work develops problems in life.

k. To some extend, verity that statement. Works ¢smlze defined as functions
accomplished by the physical system to supporfuhetional system or
function accomplished by the physical system tdkngs functionality.

159. Understanding the Work Theory: We the physical system is defined as
a theory dependable system. As a theory dependalstem we have an
intelligence that enables us to apply theory taveéeand execute functions of
life. To better understand our system relatedh learning of theory, it is
always good to represent them by a block diagrdine diagram below shows
that theory gives us ideas to derive an executetifums. Another way to say it is
that we learn or use theory to derive and exedutastion of life. As it shown
by the diagram below, the functions that we exe@ute considered to be the
output which is what we do.

T ™ » 6

output I u ( t)

From the diagram above, we can see that as as#lotlable system, we depend
on theory to gives us ideas to enable us to exdoatdions of life. It is always
good to understand that the functions that we erdadife are related to the
ideas that we get from theory. Given that worthes process of executing
functions of life, the ideas that we get from theenable us to work. While the
diagram above shows that we get ideas from the@oexécute functions, it is
always good to represent a related block diagrandimows the application of the
theory. The diagram below is similar to the onewvab It shows that we apply
theory to execute functions in life. Since workhe process of executing
functions in life, we can label the output of tliadtions that we execute as work.
This is basically what the diagrams below showe fitst one shows that we
apply theory to execute functions of life. Thew®t diagram labels each entity
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where it shows the functions that we execute edife labeled as work. That
makes a lot of senses, since we are a self catielsystem and as a self
controllable system, we rely on theory to givedesis to execute functions of life.
This is what the diagram shows. It shows that pgaideas that we get from
theory to work.

Physical System
77777777777 | applies

siop T} s

] A

T
theory
s T } T u(t)
g 4>apply Theory —}to
Work

We

From the diagram above, it shows that when we waeksimply execute
functions of life and when we execute functionsifef we also work. It is very
important to understand that relationship.

We know that the physical system is defined asrthdependable and self
controllable; the term theory dependable maps hagetith self controllable. We
know that we are an associative system. As arceds@ system, our lives
depend on each other. There is no way one peesohve without the need of
others. When it comes to theory application, d@ligays good to understand the
terms self controllable, theory dependable, andaasvity. We know that we
apply our utilization theory to enable us to exeduictions of life. While we
depend on each other to live, however we canndydpeory for each other. Itis
very important to understand that and we have éyrézarned that before. The
way to look at it, while we work together to exextiunctions of life, however
each of us apply theory independently to execudsdliunctions. As a theory
dependable system, it is very important to undadsthat.

Theories are useful to us since they give us ideasxecute functions in life.
While theories are useful, they also develop proklevhen they are misused or
disregarded. We know that problems are definealiaapplication of theories or
application of negative philosophies. In other dgrwe create problems when
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we disregard our utilization theory and apply oagative philosophies as shown
by the equations below. Given that the functidret ive execute in life rely on

our ideas, whenever those ideas are not good ti@idns that we execute will

not execute properly. The results of those exenstwill develop problems in

life. It is very important to understand problemsvelopment from negative
philosophies related to functions executions . lif

T,{T} = solutior  wnile T, {T}: problen

The diagrams below show what happen when we migappdisregard theory to
execute functions in life. The first diagram shawat we develop problems in
life when we misapply theory, while the second oise simply another
representation of the first one to enable us toetstdnd it better. It shows that
when we misapply our disregarded theory, our woeksilted to problems.

Physical System
77777777777 | applies

sioe T} e

T
s T} T a(t)
g misapply I Theory to >
Work
We

a. Take your time to think about the above explanation

b. What is the work theory?

c. The function of the physical system is to applyotlyeo enable the
functionality of life. Verity this statement byguiding a practical example.

d. The function of the physical system is to execut&fions to enable its
functionality. It can be shown that there is aikinty between work and the
function of the physical system. It can also bevahthat there is a similarity
between the physical system’s functions and thaiphlsystem itself. Verity
that statement. Which the same is as verify theviing relationship related
to work.
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ST{T}= u)

e. Verify that work is a contribution to life; you mayso provide a practical
example. Which is the same as verity the followiglgtionship; from the
relationship we can also say that work is defined aontribution to life.

Work= £(1)

It may even be better to show that relationshifhenform of
W = 2(1)

f.  Verity your understanding of the work theory rethte the following constant
characteristics: self controllable, theory depetelassociativity. There is a
relationship between the work theory and all thrembined. You may show
your understand of the work theory related to tekdtionship. You may also
provide an example if you want to.

g. Verify your understanding of the work theory rethte independency of
theory. You can also think it as verify your uretanding of independency of
theory related to the work theory.

h. We define problems as misapplication of theoriespplication of negative
philosophies. Verity that definition related tonkdy providing a practical
example. Which the same is as verify the followielgtionship related to
work. In this case, we can also say related prolsgher than work.

ST{T =)

i. Show your understanding of our utilization theoglated to execution of
functions in life. In other words, show your unstand of our utilization
theory related to work.

J- Which of those two statements make more senseu@yd why:
Misapplication of theory to work develops probleatsvork. Misapplication
of theory to work develops problems in life.

k. Using the life equation, show that work is a cdnition to life. Depend how
you do part e above, you can skip this one.

160.Show your understanding of the physical systssmmunication enabled
characteristic related to the work theory. Thigshis same as saying that, show
your understanding of the work theory related tee tphysical system
communication enabled characteristic.

161.State two parent's principles related to therkwtheory and verify your

understanding of those principles. This can bevet as two principles that
include in the work theory and verify your undenstimg of those principles.
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162.Show your understanding of the functional systelated to information theory.
This is the same as saying, show your understandinppformation theory
related to the functional system.

162. Using algebra to show your understanding of infdromatheory related to
the functional system. This is the same as saysegalgebra to show your
understanding of the functional system relatechtormation theory.

163.Show your understanding of the physical systelated to information theory.
This is the same as saying, show your understandingpnformation theory
related to the physical system.

163. Using algebra to show your understanding of infdromatheory related to
the physical system. This is the same as sayie@lggbra to show your
understanding of the physical system related tormétion theory.

164 An Introduction to Active Theory: The term active theory means that since a
self programmable system depends on theory in dodehe system to function,
we must continue using the theory to keep normattianality of our system.
Since the theory is active all the time to thatesys we call the expression active
theory.

Another way to look at it, a theory is presentedahyinstructor, where both the
instructor and the students must apply that theooyder to ensure their
functionalities. Rather than looking the applioatdf that theory to apply it, the
student must not look the instructor applicatiowider to apply the theory. The
students must apply the theory without concerniog the instructor applies it.
Since physically the instructor will not stay aetiall the time, it is better to apply
the theory without the instructor concern, henestdimsactive theory. Also,
when the instructor makes a mistake for instarreestudents don’t want to make
it as well. So it is better to follow the theorytout concerning the way the
instructor applies it or what the instructor does.
a. Think about the paragraphs above
b. Explain or show your experience about the tectiva theory related to
the above observation.
c. Verify that it is not the theory that is activeit the system is active by
applying the theory.

164. Using algebra to workout the above exercise, il yaant to, you can
include drawings in your workout. All you need do, rework out the above
example by using algebra and provide a practicairgpte.

165.Show your understanding of the physical systdated to the work theory. This

is the same as saying that show your understaraditige work theory related to
the physical system.
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1685. Show your understanding of the work theory relatedthe physical
system equation. In this case we can also sayethgonship between the work
theory and the physical system in the followingior

Wi o [+ 5+ s+ x ) &

Depend how work it out, if you want to you can algke it this way. Use the
physical system equation to show your understanaliige physical system
related to the work theory.

166 Personal Stability Related to Problem Development: We can also say personal
stability related to problems triggering. We knthat a problem is an event that
is triggered by us—the physical system. That m@aosder for a problem to
happen, we must trigger it or it must be triggdsgdomeone. If we look at the
process of problem development, we can observiolio&ving. The negative
philosophies are the ones that trigger the problesrshown by the diagram
below.

negative nfegative
philosophy philosophy
Lk > Problem
i qegative
pf?i%%ecl)t;l)vr?y philosophy
n_egative negative
philosophy philosophy
i
_— > Problem

negative B
philosophy negative
philosophy

Now, let's look at the physical system stabilitiated to theory. We already
know that our parent principles are very portalvié we must apply them
anywhere we are present. Since we are guided &getof principles and we
use it everywhere we are, there is no fluctuatioour mind. To better
understand the preceded sentence, it is worthwil@ok at both when our
intelligence depends on theory and when it dependshilosophy. The diagram
below shows our physical system being guided bypawent’s principles. Since
the physical system stability is responsible byhgaerson physically, or by each
individual, in this case, “I can say that | am gaddy my parent principles”.
“Given that my parent principle is unique, | am Webtected”.
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Theory guides _py,

Me

Now, let’s look at the diagram below when we depengbhilosophies. There are
so many of them, we don’t know which to choose, &rdare very confusing.
From the diagram below, we can say that our systerat guided at all. In this
case, in our mind, we don’t have a unique viewhafds. Comparing from the
above diagram, we see things completely differ&ince our intelligence
depends on a unique set of principle to functiory, @andom set of ideas can
create problems in our mind. With that, ideastflation can be a problem
anywhere we present.

philosphy 4

philosphy etc.

By looking at the two diagrams above, we can sungrtiem as follow. The fist
one shows that our intelligence depends on thednie the second one shows
that; our intelligence depends on a random seteds. The first one provides our
intelligence with a constant linearity, while trecend one provides our
intelligence with fluctuation.

Me
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Intelligence < 2°P°"% Theory

philosphy 4

philosphyetc.

depends

Intelligence

When we say that it provides our intelligence vatbonstant linearity, we mean
that our intelligence depends on one set of prladipat remains constant. When
we mean that the second diagram enables our gestie to fluctuate, we mean
that our intelligence is not stable from the secdadjram, which means it keeps
changing. To better understand the process,rigiesent the graphical
presentation of both diagrams. The theory guidadrdm shows that our mind is
very stable related to time and location. The tealpok at it, anywhere we are,
we depend on one set of principles. The secondloes the philosophy
dependable diagram; from the graph, we can seetinahind keep fluctuated
and it is not stable anywhere we are.

100% |~ ®--——-—- o--—-——-—- o--———- *--———- ®-——-—-

Personal Stability

time

location 1 location 2 location 3 location 4 location 5
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100%- |} — ——

Personal Stability

time

location 1 location 2 location 3 location 4 location 5

When we look at the process of problem developmeatsee that problems are
triggered due to the fact we are not personallylstalt is very easy to see that
problems are triggered by the fluctuation of oabgity as shown in the second
diagram above. Another way to look at it, giveatth person whose triggered a
problem was at a time stable, it make sense tths¢¢he fluctuation of the
personal stability causes that person to triggatr phoblem. To prevent problems
development, it is always good for all of us peesynto be 100% stable at all
times and at all places as shown from the firggmdisn above. That means we
feel 100% comfortable and confident everywhere meead all times.

a. What determine our personal stability?

b. What determine personal instability?

c. Show with a practical example that many problenggéred by the cause of
our personal stability. That means shows thafltletuation of personal
stability gives rise to problems. Also show thasialways good for the
personal stability to be at the highest level dd%0

166. Using algebra to workout the above exercise. heotvords, use algebra
to workout all parts from the above exercise.

167.Show your understanding of communication theelgted to information theory.
This is the same as saying show your understaradimjormation theory related
to the theory of communication.

167. Using algebra to show your understanding of infdromatheory related to
the theory of communication. This is the sameagig use algebra to show
your understanding of theory of communication edab information theory

168.Show your understanding of existing functicelated to the work theory. This
is the same as saying that show your understamditige work theory related to
existing functions.

169.Show your understanding of the work theorytegeldao both existing and added
functions. This is the same as saying show youterstanding of the work
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theory related to the functional system. Or shawryunderstanding of the
functional system related to the work theory. Yaun workout this exercise in
three parts, first you can show your understandinthe work theory related to
added function, and then you show your understanalithe work theory related
to existing function. Then later, you can show ryanderstanding of the work
theory related to the functional system.

169. If you have not done so, you can rework out thevalexercise by using
algebra. In other words, use algebra to show yaderstanding of the work
theory related to the functional system. Thides$ame as saying show your
understanding of the functional system relatedhéovtork theory by using
algebra.

170.Show your understanding of the physical syssethcontrollable characteristic
related to the work theory. This is the same gmgashow your understanding
of the work theory related to the self controllablearacteristic of the physical
system.

171.Show your understanding of the physical systdmory dependability
characteristic related to the work theory. Thishis same as saying show your
understanding of the work theory related to theothedependability of the
physical system.

172.Show your understanding of the work theoryteeldao life. This is the same as
saying, show your understanding of life relatethieowork theory.

172. Show your understanding of the work theory relatedhe life equation.

In this case, we can also say the relationship é&tvithe work theory and the life
equation in the following form.

Work = £2(1)
L(t) =h(t) +u(t)

=30 s u() = ()

m=1

173.Refer to exercise 140 repeat it for the follugviheory shown on the table below.
In other words, you refer to the exercise, you ligadd think about it, then show
the purpose of the work theory and the reprodudtieory.

Theory Name Abbreviation
The Work Theory \NI'
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The Reproduction Theory XT

174.Show your understanding of the physical sysiesociativity relationship related
to the work theory. This is the same as sayingvsymaur understanding of the
work theory related to the associativity relatiapsdf the physical system.

175.Show your understanding of the gaming theolgted to information theory.
This is the same as saying, show your understandingpnformation theory
related to the gaming theory.

175. Use algebra to show your understanding of the gauttieory related to
information theory. This is the same as sayingwslyour understanding of
information theory related to the gaming theoryusing algebra.

176.You have shown that the gaming theory is passBy now, you should have a
very good understanding of the gaming theory armb axisting functions.
Verify your understanding of existing functionsateld to the gaming theory by
providing a practical example. This is the samesaging that verify your
understanding of the gaming theory related to exgdunctions.

177.Show your understanding of the functional systelated to the gaming theory.
This is the same as saying, show your understardditite gaming theory related
to the functional system. If you want to, you ganvide a practical example in
your workout.

177. Using algebra to show your understanding of theiggrtineory related to
the functional system. This is the same as saysegalgebra to show your
understanding of the functional system relatedhéogaming theory.

178.Show your understanding of the physical systelated to the gaming theory.
This is the same as saying, show your understarafitige gaming theory related
to the physical system. If you wan to, you canvyae a practical example in
your workout.

178. Using algebra to show your understanding of theiggrtneory related to
the physical system. This is the same as sayie@lggbra to show your
understanding of the physical system related t@#ming theory. You must
provide a practical example in your workout.

179.We have learned a lot about the difference &etwtheory and philosophy.
Another difference between theory and philosophyhest theories are given
entity, where in the other hand philosophies areeggted entity. Another way to
say it, theories are given where philosophies amsgnally generated. Verify
that statement by providing a practical example.
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179. Using algebra to workout the exercise above. heiowords, use algebra
to verify that theories are given entity, while lpsbphies are personally
generated entities.

180.Show your understanding of information theatgted to instrumentation theory.
This is the same as saying, show your understanofingstrumentation theory
related to information theory.

181.Show your understanding of the difference betwtaeory and philosophy
related to the theory of marketing. This is theeas saying show your
understanding of the theory of marketing relateth&odifference between theory
and philosophy.

1817. Using algebra to show your understanding of thiedihce between
theory and philosophy related to the theory of rainky. This is the same as
saying that use algebra to show your understarafitige theory of marketing
related to the difference between theory and pbpby.

182Understanding Philosophy Inheritance Related to History: We may have
seen that before and we all understand that. A tivegahilosophy that was
initially generated from the past cannot be destdoyuntil it is dropped and
replaced by our parent principles. The way to labk, any negative philosophy
that was generated from the past, is still presaady without replaced by our
utilization theory. Given that philosophies are modependent entity, as one
initiated, more negative philosophies are derivedhfthe initial one. In this case,
we continue inherit and inherit more negative polohies. It is very easy to see
that process related to history. For instance,dfl@eok at some events from the
past related to some event at present time, iefy easy to see the similarity
between them. The reason for that, because thespppihies that generate those
event are still around, therefore the events frbm pgast that are derived from
those philosophies are similar to those of toddye Best way to approach what
we have just said is to look at specific countty'story. Since all of us live in a
country, we can take the country we live for exasmgoid look at events from the
past related to present events and do some analysithem to determine
similarity. By doing so, we can quickly see howgsbdwo events are related in
terms of philosophies. It does not matter the wayleok at it. It does not matter
if we look at historical events from the country \eee living or any other
country, what is important is the relationship dfose events and our
understanding of philosophy inheritance.
a. Take your time to think about the above pardgrap
b. To better understand philosophy inheritancdedl#o historical events,
take two historical events and analyze them. Thetedook at it, you can
take your country history as an example or anyrdtietory or country
history. You can take an event from the past aredfom the present.
Analyze both of them and determine if philosophyentance is a factor.
If there is no present event or whatever you wgmt, can take two events
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from the past; just take one before another onalyxe both of them to
look at similarity and determine how philosophyenkance plays into
that. You must also identify the philosophy in youork.

c. The fact that a negative philosophy can onldisearded if it is replaced
by our utilization theory, it is very important fas to take our utilization
theory into consideration when we do things. Oneae®alize the
importance of our utilization theory, we must dmgjs according to it.
From part b and from the paragraph above, we haakyzed two events
from history and determine how philosophy inhem&plays on them.
With our understanding of our utilization theorydaaxecuting function
according to it, we can see that it does not makses By understanding
of our theory, it is better for us to drop any negaphilosophy and
execute functions according to our parent prinsipl@epend how you do
part b above, you can quickly see that and asksgtiuthis question. If the
first event is negative, how comes the second dvaopens? As we
already said here, the reason for that is becawspavent principles have
been disregarded. As longer our parent principée® been disregarded,
there is no limit on how negative we can do thiagd there is no limit on
repeating what we have done negatively from thé fasprevent that, it
is always better for us to apply our utilizatioedny. To prevent that, we
must always apply our utilization theory. Basednadrat we have said
here, if you have chosen events from your counstpty, you may have
had some questions in mind. Disregard how manyndrad question you
have in mind, it is always better to ask this quesas well. Is my country
history has been taken for granted? The way to &ak if we have done
things from the past negatively, today we realieeimportance of our
parent principles, there is no way and no needisdo continue doing
things negatively. It is always better and it iways in our advantage to
start doing things positively. If we keep disregagdour parents
principles and continue doing things negatively,siveply take our
history for granted. In this case, we can say ountry history has been
taken for granted. It is always good and it is alsven our advantage not
to take history for granted. Given that we inhedgative philosophies
from the past, it is always good for us not to thlstory for granted and
apply our parent principles. Verify whether or gour country history has
been taken for granted and justify your analysis.

d. Depend how you look at part b and c, you cara gtay and a movie with
part c. You can take the analysis of the evewt @onsideration. While
you can tackle the negative part, it is alwaysdveti look at things in a
positive approach. With that, your movie or play t@ok at by not taking
your country history for granted, how things cobl’e been done
differently at present time. For instance, sinagas done negatively from
the past, today this how it could have been dofierdntly or how it can
be done differently. Another way to look at it, yoan think of something
like this. Related to the past event or events, tiomgs could have been
done today? For part b and c, you can title yoorkvinistorical events
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analysis related to philosophy inheritance or aurexvents analysis
related to philosophy inheritance.

183.Refer to the exercise above, using the physisiem representation in term of
philosophy do part b and ¢ using timeline to shbevriegative philosophies
related to today’s event or the latest one. Bebidg you can also use your
understanding of the application of theory, whighhe opposite to show the
execution of those events as negative functions.

183. Refer to the exercise above, using the physicaésygquation, we mean
the mistaken equation as it is given below. Do pahd c; using timeline to
show the negative philosophies related to todayémeor the latest one. Beside
that, you can also use the theory application eguatvhich is the opposite to
show the execution of the events as negative fonsti

S(xY=(x+ 3+ x++ Q) yr y+ ¥+ )

184.Verify the following statement the physical teys is mobile; its utilization
theory is also portable. The physical system isilaplis utilization theory must
be portable as well. Verify your understanding bétt statement related to
information theory. You can take quantity of inf@non into consideration
related to presentation of information

185.Refer to exercise number 1 and verify yourrddin for each item you identified
and defined. We mean refer to the grammatical $ezrercise and verify each
term you have defined.

186.Show your understanding of portability of themelated to interpretation of
theory. This is the same as saying, show your nstaleding of interpretation of
theory related to portability of theory.

187.Show your understanding of the difference betwtaeory and philosophy
related to the exchange system theory. This isdéinge as saying show your
understanding of the exchange system theory retatte difference between
theory and philosophy.

187. Using algebra to show your understanding of thiedihce between
theory and philosophy related to the exchange sy#teory. This is the same as
saying use algebra to show your understandingeoé¥thange system theory
related to the difference between theory and pbpby.

188.Show your understanding of the physical systetated to the theory of

marketing. This is the same as saying show yoderstanding of the theory of
marketing related to the physical system.
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188. Using algebra to show your understanding of thesplay system related
to the theory of marketing. This is the same gmngashow your understanding
of the theory of marketing related to the physgyatem by using algebra

189.Show your understanding of non attached insnisn related to attached
instruments in the physical system. This is theesaas saying show your
understanding of the physical system related tt lattached and non attached

instruments.

190.Show your understanding of the difference betwtaeory and philosophy
related to relationship of theory and system. Thibe same as saying show
your understanding of the relationship of theorg apstem related to the
difference between theory and philosophy.

191.Show your understanding of portability of themlated to importance of theory.
This is the same as saying, show your understarafimgportance of theory
related to portability of theory.

192Understanding the Principles of Simulation: By now we should have already
known that life is a real-time system. What dowean by a real-time system,
we mean that as we speak, functions are executddeth Many functions
execute in life through a process that within tiistem itself. In this case, we
can say that the overall system decide the exetatidhe function. While the
overall system makes up of many system that functagether and execute
specific function, in this case there are timesmfumctions are execute by many
of those systems that are not decided by the tr@dunctions are executed. The
way to look at it, while a system may perform adtion or a unique function,
that function may happen at a time that is notakgtiby the system itself. When
we talk about function simulation in life, we tadkout function that are executed
at a time that is not decided by the overall systeum decide by the system that
executes the function. There are many, many fanstin life that cannot be

simulated.

From the gaming theory exercise, we have learnaickie gamming theory is
considered to be a passive theory. Depend howavk out the exercise, we
could have conclude that the reason the gamingyhepassive, because they
are many or all functions that are executed whayipy) games are considered to
be neutral. In short, we can say that the ganfiegry is passive because the
functions we execute when we play games are neulfst means that they
don’t have any effect on the overall system ang tten’t have any effect on us
or individual system as well. Now, by inspectioa gan see there is a
relationship between the gaming theory and the Isitiam principles related to
function’s simulation. By inspection, we can Sea&ttthere is a relationship
between neutral functions and simulated functidas: instance, we can conclude
that the neutral functions can be simulated, whereneutral functions cannot be

simulated.
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a. Show your understanding of the simulation pring@ed provide an example
of a function in life that is accomplished by theypical system that cannot be
simulated by providing a practical example.

b. From the part above, show any problem that may baea developed by that
function when trying to simulate that function. dfein mind that whenever a
principle is disregarded, problems arise. Whenexedisregard the
simulation principle and try to simulate functiahat cannot be simulated, we
also develop problems.

193.Show your understanding of the physical systeated to the exchange system
theory. This is the same as saying show your wtaleding of exchange system
theory related to the physical system.

193. Using algebra to show your understanding of thénarge system theory
related to the physical system. This is the sasrgaging use algebra to show
your understanding of the physical system relabeti¢ theory of marketing.

194.Show your understanding of the physical systelated to added functions and
the work theory. In other words, show your underding of the work theory
related to the physical system and the added fumgof life.

195.Show your understanding of the physical systém functional system, and the
work theory. This is the same as saying that, sfour understanding of the
work theory related to both functional system dmelghysical system.

196.Show your understanding of communication theetsited to the work theory.
This is the same as saying show your understardfitige work theory related to
communication theory.

197.Show your understanding of the information tiieelated to the work theory.
This is the same as saying that show your undelistgrof the work theory
related to information theory.

198.Using Show your understanding of the work thie@elated to information theory.
This is the same as saying use algebra show yalarstanding of information
theory related to the work theory.

199.Show your understanding of the difference betwtaeory and philosophy
related to the work theory. This is the same gigashow your understanding
of the work theory related to the difference betveeeory and philosophy.

199. Using algebra to show your understanding of thiedihce between
theory and philosophy related to the work thedFiis is the same as saying use
algebra to show your understanding of the workmheelated to the difference
between theory and philosophy.
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200.From interpretation of theory, we have learted a theory that is presented at a
location may take that location into considerationterm of interpretation;
nevertheless, the theory does not change. By staaeling theory, presentation
of theory, interpretation of theory, and the phgbigystem, it can be shown that
the presentation of a theory and the interpretatiba theory does not change
that theory at all, disregard the area and the titnés presented. By
understanding this exercise, verify what we hawe gaid. In other words, show
that the presentation and the interpretation oheorty does not change that
theory, disregard the time and the area it is prteske

200. Using algebra to work out the above exercise. tinelo words, by
understanding the above exercise, use algebraoiw #fat the presentation and
the interpretation of a theory do not change thaoty disregard the time and the
area it is presented.

201.By understanding the above exercise, we cathaééhe direct interpretation of a
theory can never be absolute or correct all the.tinn other words, since the
presentation may take the area into considerati@ngirect interpretation of that
theory can never be the same. We can also saythieatlirect interpretation or
the direct way of looking at it may never be thensa That makes a lot of
senses; related to the physical system, we cathaeenakes sense as well. By
understanding theory, presentation of theory, pretation of theory, you can
verify that. In other words, show that the direderpretation of a theory may
never be absolute.

201. Using algebra to workout the above exercise. Iheotwords, by
understanding the above exercise, it can be shbatrttie direct interpretation of
a theory can never be absolute, just show or vérdy by using algebra.

202.By understanding the physical system and thetional system, show the
reduction of philosophies by taking distance inbmsideration. In other words,
by taking distance into consideration, show thalogbphies can be reduced.

202. The mistaken equation was given to us in the fofm o

S(X9:(§+ )§+ )§+...+ %)( y-|- ¥+ ¥-|-+ [y

By understanding the physical system, philosoplmg effect of philosophy on
system, the terms can be reduced tremendouslyngUbe mistaken equation
above to show that and verify that by providingeaplanation. You can also use
diagram with your workout if you want to and shoauy observation.

203. Show that the fundamental of our utilizatibedry is equal to the fundamental
of all of the theories that we have identified camelol. In other words, show that
the fundamental of our utilization theory is thertmnation of the fundamental
of all the theories that we have identified.

www.speaklogic.org Copyright © 2011The Speak Logic Project




444

203. Verify that

ok K

fUT :{le-i- fT2+ fT3+ fT4+ fE

+f +f +f_+f_+f
T To
This is the same as

fu. :{fKT RIS S S WS S AR W XT}

204.By having a good understanding of our util@atiheory and also fundamental of
our utilization theory. It can be shown that otitization theory is unity or it is
defined as unity; verify that statement. In otiverds, show that our utilization
theory is defined as unity. Our utilization thedsyisted on this table.

Order Theory Name Abbreviation | Abbreviation
1 The Communication Theory KT fK
-
2 The Information Theory iT fi
-
3 The Instrumentation Theory |T fI
T
4 The Power Theorem PT fP
>
5 The Theory of Education ET fE
-
6 The Theory of Marketing M f
T M4
7 The Exchange System E f
Theory T Es
8 The Gaming Theory GT fGr
9 The Work Theory f
W, "
10 The Theory of Reproductio‘n XT fx
T

a. First, draw the similarity relationship diagram ttheepresents both the
fundamental of our utilization theory and our atliion theory; don’t worry
about any order of the theory. You may providéasesnent that leads you to
each similarity.

b. Second, by understanding the relationship of themmg fundamental of
theory; by understanding the relationship betweenutilization theory and
the fundamental of our utilization theory, showttbar utilization theory is
defined as unity.
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204. From what we know about theory and fundamentahebty, we have the
following relationship.

If le~ f_  Then T1~T2

T

Our utilization theory was given to us, and it iade of 10 theories. Below is the
representation of our utilization theory by numasrshown below.

UT :{Tl’ sz T3, T4v -E’ T6’ -I;’ -[3’ -5’ -II})

The theories from the group above are identifiedheyr abbreviations. Don’t
worry about the order; any theory from the listdvelcan be identified by any
number from the list above.

Ur ={Kq,ig, 1 1,Pr, E1,M 1, ESp, Gy, Wy, X}

We have said that the commas that separate thedbdémm the group above can
be replaced by the plus sign to give us the folhawi

Ur =T T T T T e T o & )
Up ={K;+ip+1 +Pr+Ep+ M 1+ ESpe Gre Wer X

The table below list the theory names their ablatésms and their fundamentals
equivalent related to the abbreviations.

Order Theory Name Abbreviation | Abbreviation

1 The Communication Theory K f
T Ky

2 The Information Theory i.l. .
r

3 The Instrumentation Theory |T fI
-

4 The Power Theorem P f
T P

5 The Theory of Education E f
T =

6 The Theory of Marketing M f
T M+

7 The Exchange System E f
Theory o Es

8 The Gaming Theory f
Gr G
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9 The Work Theory \/\[I_ f

f
T Xy

10 The Theory of Reproductio‘n X

a. Draw the similarity relationship diagram thgtnesents both the fundamental
of our utilization theory and our utilization thgprdon’'t worry about any
order of the theory. You may provide a stateméat teads you to each
similarity.

b. By understanding the relationship of theory &madamental of theory; by
understanding the relationship between our utibrattheory and the
fundamental of our utilization theory, it can beaim that

U =U;

Or in another form that our utilization theory igual to unity; show that
U is equal to unity or.

U, =1

U =1

In that casel is interpreted as unity or unique

205.Now that you have a good understanding of dilization theory, refer to
exercise number 43 multi-parent society and showr yoderstanding of our
utilization theory related to that term. In otlweords, show your understanding
of the term related to our utilization theory. Wiean the relationship in term of
similarity. You can use diagrams in your workout.

205. Now that you have a very good understanding ofutilization theory. Refer
to exercise number 43, multi-parent society and akgbra to show the
relationship of that term with our utilization thrgo You can look at it in term of
similarity. You can also use diagrams in your vaurtk

206Understanding Life and the Physical System: As an associative system, our
utilization theory enables us to interact to eatthen We need our utilization
theory in order to interact to each other to endifdefunctionality of life. In the
event that we interact to each other without the efsour utilization theory, we
simply develop problems in life. By understandixgrcise number 147, we
have seen that our utilization theory is very intaot to us, since we must use it
to interact to each other.

Related to what we have said above, we can usenyist verify the importance

of our utilization theory and the relationship € land our utilization theory. If
we look at the world history by taking countriesoirconsideration in terms of
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people, we can see that distance between each affeets the performance of

the functional system a lot. For instance, we loak at the functional system

before the distance and after the distance relatdustory and see the declining
of the functional system as a matter of distanGeaphically, we can see that as
our distance decreases, the functional system ddstines, as shown by the
graph below. From the graph, we can see as welagdr to each other, in other
words, as the distance between us reduced, witheutisage of our utilization

theory, the functional system performance decredisanatically.

e

Life

distance

time ———p

While using the graph, we can also use a tableadsif we want to. The table
below shows what we are taking about.

Distance Between Us Functional System Perfor mance
Greater distance OK
Less distance Declining
Less, less distance More declining

To show that, you can use history and look at distan terms of date to show
the declining of life; you can also use date anenévo show that. For instance
you can analyze an event before and after thendistéo show how that event
contributed or caused by the distance. Then youcoaclude in your workout,

indeed our distance affects the functional systewh when we don’'t use our
utilization theory do interact to each other, waly develop problems. You can
tabulate the events as shown by the table above.

For the overall exercise, all you need to do, mokple of events from history,
analyze them before and after the distance, theaphgally, show the
performance of the functional system related tesé¢éhevents and distance. You
can use the graph below for additional information.
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J

Life

time

/ distance

Date ] Date2 Date 3 Date 4
Event | Event2 Eyemt3  Event4

206. Understanding Life and the Physical System: Perhaps, we can also say
understanding the mistaken equation. We know thate is a relationship
between the physical system and the functionakgaystAs a theory dependable
system, we, the physical system apply our utilorattheory to enable the
functionality of the functional system. Once wardgard the existence of our
utilization theory, we depend on our philosophied that causes life to function
abnormal. By understanding that, we have the kestaequation as shown
below, which was given to us previously.

S(x)):(¥+ )§+ §+...+ X)( y+ ¥+ ¥|-+ ry

By understanding our utilization theory, we knovatttwe need our utilization

theory to interact to each other. In the even Wmatdon’t interact to each other
with our utilization theory we simply develop prebis in life. By understanding
that, we can see that there is a relationship twlee functional system equation
and the physical system equation. From what we jas said, we can put them
together in the form of.

£(t) - Uy

From what we have said above and from exercise \wd know that we develop
problems when we interact to each other withoutgisiur utilization theory. By
understanding that from exercise 80, we have shoany events that happened
in history that caused life to function abnormdlhose events happened due to
the fact that we interact to each other withouizaaiion of our parent principles.
By understanding that exercise and what we hauespid, we can see that it is
very important for us to interact to each otherusyng our utilization theory.
Once we misunderstanding that, we executed furstibat are generated from
our negatives philosophies that cause life to decay a result of that, from the
same exercise we can see that the functional systetmues to decay related to
time as a result of many negative events in history
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By understanding what we have said above, exencisaeber 147, exercise
number 80, and exercise number 202 and, 262 can see that distance is a factor
when we interact to each other. In other wordsyaget closer to each other, we
need to apply our parent principle. In the evéat tve don’t apply our parent
principle, once we get closer to each other, wephkirdevelop problems. From
what we have just said, we can see that distanee fector in the mistaken
equation in terms of problem development. In otherds, the problems
generated by the mistaken equation can be reduitkedlistance. Another way to
say it, understanding the principle enables usetcctpser to each other, however
when we misunderstand or disregard the principke sunply develop problems
when we get closer to each other.
a. Just take your time to think about the overall argtion
b. By understanding the paragraph above and also warlb explanation, we
can see that distance is a factor when it com@sdblems we develop in life
in term interacting to each other. Now, from ei@mumber 144, we have
shown the decay of the functional system relategl/emt in history. We have
used a table to show the reduction.6f(t) related to the events. We have

also shown that graphically as well. Now, let'pand the same exercise by
taking distance into consideration. To show tlgatj can continue the same
exercise to show how distance affect the functi@ystem. You can show
that both graphically and in a table format. Y@ @lso go back farther in
history to show that. To show that in a table fatnyou can use a table as
shown below. All you need to do, pick the evenmtd analyze them to show

that.
Y ear Distance Between Us Event L(t)
Date 1 Less Event 1 Drop
Date 2 Less, Less Event 2 Drop more

Similar to the table format, you can also do itpdriaally in the following
form. In this case, we know the following. As @ngoes up, distance goes
down, life also goes down, as shown by the diagralow.

time distance °@ (t)

Related from the diagram below, you can construgtagh in the following
form. As shown by the graph below, ti@(t) continues to decay as distance
decreases. For the overall exercise, all you hawdo, pick the events and
analyze them in terms of distance. Look at thenebefore the distance and
look at the same event after the distance and dbaoK(t) in both cases. We
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mean look at£2(t) before the event, and as distance reduced, look @)

again after the event. In all cases, you havehtawsyour observation and
your analysis. You need to analyze the eventenm tof distances to show
how the distances affect the events. For instashwes the distance attribute
to the event? For instance, before the eventdigtance was far; as we get
closer in terms of distance, the events happened.

Kl

L(t)

/ distance

time

Date 1 Date 2 Date 3 Date 4
Event 1 Event2 Event3 Event 4

c. By understanding part b above, you have showndisséance is a factor for
the physical system without applying our utilizatitheory. In other words,
without using the principle, the closer we getacleother, the more problems
we develop. While you have shown that historigatlgould have been done
algebraically without using any history. You camtinue exercise #(power
interfacing) to show that algebraically. All yoeed to do, if you want to
show that algebraically, simply wait until you getthe exercise.

207.Show your understanding of the functional systelated to events in history.
This is the same as saying that, show your undetstg of events in history
related to the functional systems. This can als@ibwed as the stability of the
functional system.

207. Using algebra to show your understanding of thetional system related
to events in history. This is the same as sayusg algebra to show your
understanding of events in history related to thecfional system. This can also
be viewed as the stability of the functional system

208.Show your understanding of the physical systelated to events in history.
This is the same as saying that, show your undetistg of events in history
related to the physical system. This can alsoibwed as the stability of the
physical system.

208. Using algebra to show your understanding of eventsistory related to
the physical system. This is the same as sayiat tise algebra to show your
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understanding of the physical system related totsvimm history. This can also
be viewed as the stability of the physical system.

209.Show your understanding of the difference betwbeory and philosophy
related to the relationship between theory andrthebcommunication. This is
the same as saying show your understanding oethganship between theory
and theory of communication related to the diffeeshetween theory and
philosophy.

209. Using algebra to show your understanding of thiedihce between
theory and philosophy related to the relationskdpveen theory and theory of
communication. This is the same as saying usigebah to show your
understanding of the relationship between theodytaaory of communication
related to the difference between theory and pbpby.

210.Show your understanding of application of tiggetated to importance of
theory. This is the same as saying, show your nstaleding of importance of
theory related to application of theory.

210. Using algebra to show your understanding of apgtioaof theory related
to importance of theory. This is the same as sgyise algebra to show your
understanding of importance of theory related faliagtion of theory.

211.Show your understanding of importance of theelgted to communication
theory. This is the same as saying, show your nstaleding of communication
theory related to impotence of theory.

212.Show your understanding of the work theoryteeldo application of theory.
This is the same as saying show your understaradiagplication of theory
related to the work theory.

212. Using algebra to show your understanding of thekwioeory related to
application of theory. This is the same as saus®gjalgebra to show your
understanding of application of theory relatedhi® work theory.

213.Show your understanding of the work theoryteeldo portability of theory.
This is the same as saying show your understarafipgrtability of theory
related to the work theory.

214.Show your understanding of the work theorytegldo the theory of
communication. This is the same as saying show yoderstanding of the
theory of communication related to the work theory.

214. Using algebra to show your understanding of thekwioeory related to

the theory of communication. This is the sameagtg use algebra to show
your understanding of the theory of communicatiglated to the work theory.
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215.Show your understanding of the work theoryteeldo expandability of theory.
This is the same as saying show your understarafiagpandability of theory
related to the work theory.

215. Using algebra to show your understanding of thekwioeory related to
expandability of theory. This is the same as gauise algebra to show your
understanding of expandability of theory relatethi work theory.

216.Show your understanding of the work theoryteeldo independency of theory.
This is the same as saying show your understarafimglependency of theory
related to the work theory.

216. Using algebra to show your understanding of thekwioeory related to
independency of theory. This is the same as saygegalgebra show your
understanding of independency of theory relateti¢ovork theory.

217.Show your understanding of the work theoryteeldo importance of theory.
This is the same as saying show your understaradimgportance of theory
related to the work theory.

218.Show your understanding of information theafpted to independency of
theory. This is the same as saying show your wtaleding of independency of
theory related to information theory.

218. Using algebra to Show your understanding of infdromatheory related to
independency of theory. This is the same as sajseglgebra to show your
understanding of independency of theory relatedftormation theory.

219.Show your understanding of information the@fgted to importance of theory.
This is the same as saying show your understarafiimgportance of theory
related to information theory.

220.Show your understanding of information the@fgted to interpretation of
theory. This is the same as saying show your wtaeding of interpretation of
theory related to information theory.

220. Using algebra to show your understanding of infdromatheory related to
interpretation of theory. This is the same asrgayise algebra to show your
understanding of interpretation of theory relateéhformation theory.

221.Show your understanding of instrumentation theelated to portability of
theory. This is the same as saying show your wtaeding of portability of
theory related to instrumentation theory.
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222.Show your understanding of instrumentation theelated to theory of
communication. This is the same as saying show yoderstanding of theory of
communication related to instrumentation theory.

222. Using algebra to show your understanding of insentation theory
related to theory of communication. This is theneas saying use algebra to
show your understanding of theory of communicatedated to instrumentation
theory.

223.Show your understanding of instrumentation theelated to the functional
system. This is the same as saying show your stadeling of the functional
system related to instrumentation theory.

223. Using algebra to show your understanding of insentation theory
related to the functional system. This is the samsaying use algebra to show
your understanding of the functional system relabeidstrumentation theory.

224.Show your understanding of instrumentation mheelated to independency of
theory. This is the same as saying show your wtaeding of independency of
theory related to instrumentation theory.

225.Show your understanding of instrumentation theelated to importance of
theory. This is the same as saying show your wtaeding of importance of
theory related to instrumentation theory.

226.Show your understanding of communication theelgted to portability of
theory. This is the same as saying show your whaieding of portability of
theory related to communication theory.

227.Show your understanding of communication theelgted to the physical
system. This is the same as saying show your stadeling of the physical
system related to communication theory.

227. Using algebra to show your understanding of compatiun theory
related to the physical system. This is the sasrgaging use algebra to show
your understanding of the physical system relatetbtnmunication theory.

228.Show your understanding of communication theelgted to the functional
system. This is the same as saying show your stadeling of the functional
system related to communication theory.

228. Using algebra to show your understanding of compatian theory
related to the functional system. This is the samsaying use algebra to show
your understanding of the functional system reléecbmmunication theory.
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229.Show your understanding of communication theelated to independency of
theory. This is the same as saying show your wtaleding of independency of
theory related to communication theory.

230.Show your understanding of communication theelgted to importance of
theory. This is the same as saying show your wtaleding of importance of
theory related to communication theory.

231.Show your understanding of the theory of mamketelated to application of
theory. This is the same as saying show your wtaleding of application of
theory related to the theory of marketing.

231. Using algebra to show your understanding of therhef marketing
related to application of theory. This is the sameaying use algebra to show
your understanding of application of theory relai@the theory of marketing.

232.Show your understanding of the theory of mamketelated to importance of
theory. This is the same as saying show your wtaeding of importance of
theory related to theory of marketing.

233.Show your understanding of the exchange sy8teary related to application of
theory. This is the same as saying show your wtaeding of application of
theory related to the exchange system theory.

233. Using algebra to show your understanding of thénamrge system theory
related to application of theory. This is the sasesaying use algebra to show
your understanding of application of theory relai@the exchange system
theory.

234.Show your understanding of the exchange systtated to portability of theory.
This is the same as saying show your understarafipgrtability of theory
related to the exchange system theory.

234. Use algebra to show your understanding of the exgghaystem related to
portability of theory. This is the same as sayghgw your understanding of
portability of theory related to the exchange systkeory by using algebra.

235.Show your understanding of the exchange sy8teary related to importance of
theory. This is the same as saying show your wtaleding of importance of
theory related to the exchange system theory.

236.Show your understanding of the gaming thedated to application of theory.
This is the same as saying show your understarafiagplication of theory
related to the gaming theory.
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236. Using algebra to show your understanding of theiggrtneory related to
application of theory. This is the same as saysgalgebra to show your
understanding of application of theory relatedni® gaming theory

237.Show your understanding of the gaming thedated to portability of theory.
This is the same as saying show your understarafipgrtability of theory
related to the gaming theory.

238.Show your understanding of the gaming thedated to independency of
theory. This is the same as saying show your wtaeding of independency of
theory related to the gaming theory.

239.Show your understanding of the gaming thedated to importance of theory.
This is the same as saying show your understarafiimgportance of theory
related to the gaming theory.

240.Show your understanding of the work theorytegldo instrumentation theory.
This is the same as saying show your understarafimgtrumentation theory
related to the work theory.

240. Using Show your understanding of the work theotstesl to
instrumentation theory. This is the same as sayssgalgebra show your
understanding of instrumentation theory relatethéowork theory.

241.Show your understanding of the work theorytegldo the theory of marketing.
This is the same as saying show your understardditige theory of marketing
related to the work theory.

242.Show your understanding of the work theoryteeldo the exchange system.
This is the same as saying show your understardditige exchange system
theory related to the work theory.

243.Show your understanding of the work theorytegldo the gaming theory. This
is the same as saying show your understandingeajdiming theory related to
the work theory.

244.Show your understanding of the instrumentatieory related to the exchange
system theory. This is the same as saying showwmiderstanding of the
exchange system theory related to instrumentaltieary.

244, Use algebra to show your understanding of theunstntation theory
related to the exchange system theory. This isdéinge as saying show your
understanding of the exchange system theory retategtrumentation theory by
using algebra.
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245.Show your understanding of the gaming thedated to the exchange system
theory. This is the same as saying show your wtaeding of the exchange
system theory related to the gaming theory.

246.Show your understanding of the information thigelated to the exchange
system theory. This is the same as saying showwmierstanding of the
exchange system theory related to information §heor

247.Show your understanding of the theory of mamketelated to the exchange
system theory. This is the same as saying showwmilerstanding of the
exchange system theory related to the theory oketiag.

248.Show your understanding of the exchange sy8teary related to the theory of
communication. This is the same as saying show yoderstanding of the
theory of communication related to the exchangéesysheory.

248. Use algebra to show your understanding of the exgghaystem theory
related to the theory of communication. This is $ame as saying show your
understanding of the theory of communication relatethe exchange system
theory by using algebra.

249.Show your understanding of the theory of mamketelated to the theory of
communication. This is the same as saying show yoderstanding of the
theory of communication related to the theory ofketing.

249. Use algebra to show your understanding of the thebmarketing related
to the theory of communication. This is the sameaying show your
understanding of the theory of communication relatethe theory of marketing
by using algebra.

250.Show your understanding of function and systationship related to the
physical system. This is the same as saying sloawynderstanding of the
physical system related to function and system.

250. Using algebra to show your understanding of fumctiod system related
to the physical system. This is the same as saygeglgebra to show your
understanding of the physical system related totfan and system.

251.Show your understanding of function and systationship related to the
functional system. This is the same as saying sfmaw understanding of the
functional system related to function and system.

257. Using algebra to show your understanding of fumctiod system related
to the functional system. This is the same asgayse algebra to show your
understanding of the functional system relateditefion and system.
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